

this issue	Page
Kansas Department of Transportation Notice of public auction Notice to contractors	
North Central Regional Planning Commission Notice to bidders	1040
Kansas Board of Regents Universities Notice to bidders	1040
Department of Administration–Procurement and Contracts Notice to bidders for state purchases	1040
Department for Children and Families Notice of hearing on the Low Income Home Energy Assistance Program	1041
Pooled Money Investment Board Notice of investment rates	
Legislative interim committee schedule	1041
Kansas 911 Coordinating Council Notice of meeting	
Kansas Guardianship Program Notice of meeting	
Department of Agriculture—Division of Conservation Notice to contractors	1042
Department of Health and Environment Notice concerning water pollution control permits/applications Request for bids for lead hazard reduction	1042 1044
Kansas State Fair Board Notice of meeting	
Kansas Development Finance Authority Notice of hearing on proposed revenue bonds	
Notice of Bond Sale City of Bel Aire City of Spring Hill City of Topeka	1046
City of Maize Notice of intent to seek private placement of general obligation bonds	1047
Permanent Administrative Regulations Department of Commerce	
Temporary Administrative Regulations Kansas Lottery	
Governmental Ethics Commission Opinions No. 2013-03 and 2013-04	
Index to administrative regulations	

State of Kansas Department of Transportation

Notice of Public Auction

The secretary of the Kansas Department of Transportation will offer for sale at public auction at 11 a.m. Tuesday, October 1, the following parcel:

Tract 7442-14

Project: 24-52 F 577 B (1) I 2.33 acres +/-, Leavenworth County U.S. 24 & Smiley Road, Tonganoxie A tract of land in the NW/4 Sec. 9-11S-21E

A complete legal description is available on request.

The sale will be conducted on the premises. An inspection of property will take place at 10 a.m. on the day of the sale. In case of inclement weather, call the number below for alternate sale location and adjusted auction time.

The minimum acceptable bid is \$95,000.

Terms of Sale:

Payment of \$9,500, representing 10 percent of the minimum acceptable bid, is due at the time of the sale. The balance of the purchase price must be paid on or before 3 p.m. Friday, November 1, 2013. The successful bidder will receive a bill of sale on the day of the sale and a quit claim deed after the balance is paid. If the balance of the purchase price is not paid on or before 3 p.m. Friday, November 1, 2013, the 10 percent down payment will be forfeited to the seller. For additional terms and information contact the Bureau of Right of Way at 877-461-6817.

The seller reserves the right to reject any and all bids and is not responsible for accidents.

Sold Subject to the Following:

The tract will be sold subject to the easement for the right of ingress and egress, reconstruction and maintenance of all existing utilities and appurtenances thereto, as well as the following restrictive covenant: Grantees, for their heirs and assigns, do hereby covenant and agree, said covenant to run with the land, that the land conveyed herein shall not be used for billboards, signboards or other outdoor advertising purposes.

The prospective buyer is encouraged to research the chain of title of the tract.

The Kansas Department of Transportation makes no representations concerning the condition, value or suitability of use for this property or the improvements, attachments, fixtures, apparatuses and appliances thereof, if any. The property and said improvements, etc., will be sold in the present "as is" condition, without warranties or guarantees of any kind.

The Kansas Department of Transportation ensures the acceptance of any bid pursuant to this notice will be without discrimination on the grounds of sex, race, color, religion, physical handicap or national origin.

> Mike King Secretary of Transportation

Doc. No. 041852

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2013. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs_kansas_register.asp

Published by Kris W. Kobach Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594 785-296-4564 www.sos.ks.gov



Register Office: 1st Floor, Memorial Hall 785-296-3489 Fax 785-296-8577 kansasregister@sos.ks.gov

State of Kansas Department of Transportation

Notice to Contractors

Electronic copies of the letting proposals and plans are available on the KDOT website at http://www.ksdot.org/ burconsmain/contracts/proposal.asp. The website will allow the contractor to request approval from KDOT to bid as a prime contractor and be included on the "Bid Hold-ers List," or to be included on the "Non-Bid Holders List" as a subcontractor/supplier. KDOT's approval is required to bid as a prime contractor. To bid as a prime contractor, KDOT needs to be notified of the intent to bid not later than the close of business on the Monday preceding the scheduled letting date. Failure to obtain prior approval to bid as a prime contractor on any projects listed below will be reason to reject the bid. The secretary of the Kansas Department of Transportation reserves the right to reject bids that do not comply with all requirements for preparing a bidding proposal as specified in the 2007 edition of the Kansas Department of Transportation Standard Specifications for State Road and Bridge Construction.

KDOT will only accept electronic Internet proposals online using the Bid Express website at http://www. bidx.com until 1 p.m. local time September 18, 2013. KDOT will open and read these proposals at the Eisenhower State Office Building, 700 S.W. Harrison, Topeka, at 1:30 p.m. local time September 18. An audio broadcast of the bid letting is available at http://www.ksdot.org/ burconsmain/audio.asp.

Each bidder shall certify that such person, firm, association or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This certification shall be in the form of a required contract provision provided by the state to each prospective bidder. Failure to complete the required contract provision and certify the completeness of the preceding statement when electronically signing the proposal will make the bid nonresponsive and not eligible for award consideration.

District One — Northeast

Marshall—58 C-4156-01 — County road, 3.0 miles south and 1.5 miles west of Vliets, grading and bridge, 0.2 mile. (Federal Funds)

Osage—70 C-4501-01 — County road, 1.0 mile north and 2.1 miles west of Michigan Valley, grading and bridge, 0.2 mile. (Federal Funds)

Douglas—10-23 K-8392-04 — K-10 connection, from south junction of U.S. 59/K-10 east to K-10, South Lawrence Trafficway (SLT), grading, bridge and surfacing, 6.0 miles. (Federal Funds)

Osage—75-70 KA-0047-01 — U.S. 75 junction with K-31/K-268, roundabout, 0.5 mile. (Federal Funds)

Brown—75-7 KA-0747-02 — U.S. 75, 0.5 mile north of Sabetha north to Brown/Nemaha county line, seeding/ sodding, 4.5 miles. (Federal Funds)

Nemaha—75-66 KA-0748-02 — U.S. 75, from the Brown/Nemaha county line north to the Nebraska state line, seeding/sodding, 1.1 miles. (Federal Funds)

Johnson—35-46 KA-1109-05 — Southwest Johnson County Interchange Project at I-35/Homestead Lane, seeding/sodding, 1.5 miles. (Federal Funds) **Johnson**—46 KA-1109-06 — Homestead Lane, from 199th Street north to 191st Street, seeding/sodding, 1.0 mile. (State Funds)

Douglas—40-23 KA-2174-01 — U.S. 40 and K-10 interchange, traffic signals. (State Funds)

Jefferson—24-44 KA-2404-02 — U.S. 24, 1.8 miles east of Shawnee/Jefferson county line east to 4-lane/2-lane transition, seeding/sodding, 5.5 miles. (State Funds)

Wyandotte—70-105 KA-3029-01 — I-70 and 18th Street interchange, lighting, 1.5 miles. (Federal Funds)

Wyandotte—70-105 KA-3190-01 — I-70, bridge1.0 mile east of the Turner Diagonal, bridge repair. (State Funds)

Wyandotte—435-105 KA-3191-01 — Two bridges on I-435, bridge repair. (State Funds)

Statewide—106-KA-3527-01 — RAP sampling at various locations in the Northeast District, milling. (State Funds)

Pottawatomie—24-75 KA-3535-01 — U.S. 24, 2-lane section, pavement marking, 9.2 miles. (Federal Funds)

Jefferson—59-44 KA-3539-01 — U.S. 59, Oskaloosa north to the U.S. 59/K-4 junction, crack repair, 14.3 miles. (State Funds)

Shawnee—70-89 KA-3541-01 — I-70, Danbury Lane east to Polk Quincy Viaduct (City of Topeka), Special, 3.4 miles. (State Funds)

Douglas—23 U-2117-01 — 31st Street from Haskell Avenue to O'Connell Road, grading and surfacing, 1.0 mile. (Federal Funds)

District Two — North Central

Saline—85 C-0323-01 — County road, eastern Salina city limits to Solomon Road, grading, bridge and surfacing, 10.5 miles. (Federal Funds)

Clay—14 C-0493-01 — Various locations, pavement marking, 56.0 miles. (Federal Funds)

District Four — Southeast

Neosho—67 C-0340-01 — County road, 1.0 mile south of Galesburg, bridge replacement, 0.1 mile. (Federal Funds)

Montgomery—160-63 KA-2073-01 — U.S. 160, bridge #017 located 7.09 miles southeast of Elk County line (Elk River), bridge replacement. (Federal Funds)

Labette—59-50 KA-3174-01 — U.S. 59, 9 miles north of the west U.S. 59/U.S. 160 junction, bridge repair. (State Funds)

District Five — South Central

Barber—160-4 KA-2050-01 — U.S. 160, bridge at Barber County State Lake drainage 0.03 mile east of the east U.S. 160/U.S. 281 junction, bridge replacement. (Federal Funds)

Sedgwick—54-87 KA-3530-01 — U.S. 54, eastbound lanes just west of U.S. 54 over McClean Boulevard, Special, 0.1 mile. (State Funds)

District Six — Southwest

Clark—13 C-4519-01 — County road, 2 miles south of Ashland, grading and bridge, 0.2 mile. (Federal Funds)

Mike King Secretary of Transportation

(Published in the Kansas Register August 29, 2013.)

North Central Regional Planning Commission

Notice to Bidders

Sealed bids for unit pricing for Tactical Team Equipment along with any cost benefit break for purchase of more than one (1) unit will be accepted by the North Central Regional Planning Commission (NCRPC), 109 N. Mill St., Beloit, 67420, until 3 p.m. Tuesday, September 17, 2013, at which time they will be publicly opened and read aloud at the same address. Copies of Instructions to Bidders and project specifications can be accessed by going to www.procurement.ncrpc.org/HS/projects.htmil or by contacting the NCRPC at 785-738-2218 or angell.sherry@ gmail.com. This action is being taken on behalf of the Northwest Kansas Regional Homeland Security Council. The estimated project value may exceed \$50,000.

> Sherry L. Angell Regional Coordinator

Doc. No. 041860

State of Kansas

Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: www.emporia.edu/ busaff/. Additional contact info: phone: 620-341-5145, fax: 620-341-5073, email: tshepher@emporia.edu. Mailing address: Emporia State University, Controller's Office/Purchasing, Campus Box 4021, 1200 Commercial, Emporia, KS 66801.

Fort Hays State University – Bid postings: www.fhsu.edu/purchasing/bids. Additional contact info: phone: 785-628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State Purchasing Office, 601 Park St., 318 Sheridan Hall, Hays, KS 67601.

Kansas State University – Bid postings: www.k-state.edu/purchasing/rfq. Additional contact info: phone: 785-532-6214, fax: 785-532-5577, email: kspurch@k-state.edu. Mailing address: Division of Financial Services/Purchasing, 21 Anderson Hall, Kansas State University, Manhattan, KS 66506.

Pittsburg State University – Bid postings: www.pittstate.edu/ office/purchasing. Additional contact info: phone: 620-235-4169, fax: 620-235-4166, email: purch@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762-7549.

University of Kansas – Electronic bid postings: http:// www.procurement.ku.edu/. Paper bid postings and mailing address: KU Purchasing Services, 1246 W. Campus Road, Room 20, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: purchasing@ku.edu. University of Kansas Medical Center – Bid postings: http:// www2.kumc.edu/finance/purchasing/bids.html. Additional contact info: phone: 913-588-1100, fax: 913-588-1102. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University – Bid postings: www.wichita.edu/purchasing. Additional contact info: phone: 316-978-3080, fax: 316-978-3528. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 12, Wichita, KS 67260-0012.

> Tess Shepherd Chair of Regents Purchasing Group Procurement Officer II Emporia State University

Doc. No. 041700

State of Kansas

Department of Administration Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the director of Procurement and Contracts until 2 p.m. on the date indicated. For more information call 785-296-2376:

09/10/2013	EVT0002604	Repair Parts for Military Dolly Sets
09/10/2013	EVT0002605	Compact Track Loader & Attachments — Lake Scott State
09/10/2013	EVT0002606	Park Compact Track Loader & Attachments — Wilson Wildlife Area
09/11/2013	EVT0002601	Pavement Milling & Overlay — Belleville
09/11/2013 09/19/2013	EVT0002608 EVT0002390	Shipping Supplies and Cartons Patient Telephone Service

The above-referenced bid documents can be down-loaded at the following website:

http://www.da.ks.gov/purch/contracts/bids.aspx

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

09/19/2013	A-011776REV	Stadium Renovation — West
		Memorial Stadium — Kansas
		State University, Manhattan
09/19/2013	A-012342REV	
		Services Bldg. — Hutchinson
		Correctional Facility — Kansas
		Department of Corrections,
		Topeka

Information regarding prequalification, projects and bid documents can be obtained at 785-296-8899 or http:// da.ks.gov/fp/.

Tracy T. Diel, Director Procurement and Contracts

Kansas Register

State of Kansas Department for Children and Families

Notice of Hearing

In compliance with federal regulation, the Kansas Department for Children and Families (DCF) has scheduled a public hearing from 10 to 11 a.m. Monday, September 9, in the fifth floor conference room (5EA), Docking State Office Building, 915 S.W. Harrison, Topeka, to solicit input from the general public regarding the administration of the Low Income Home Energy Assistance Program (LIHEAP). The public is invited to submit written comments or provide comments at the hearing. Written comments can be mailed to Winona Dickson, DCF-Economic and Employment Support, Suite 580, Docking State Office Building, 915 S.W. Harrison, Topeka, 66612.

Phyllis Gilmore Secretary for Children and Families

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 2012 Supp. 12-1675(b)(c)(d) and K.S.A. 2012 Supp. 12-1675a(g).

ш -	Effective 8-26-13 through 9-1-13		
tion		U	
am	Term	Rate	
om-	1-89 days	0.08%	
om-	3 months	0.03%	
mic	6 months	0.06%	
fice	12 months	0.15%	
	18 months	0.27%	
ore	2 years	0.39%	
ren		Scott Miller	
lies		Director of Investments	
	Doc. No. 041844		

State of Kansas

Doc. No. 041849

Legislature

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet during the period of August 29-September 11, based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email LegServ@las.ks.gov.

0			, 0	0
Date	Room	Time	Committee	Agenda
Aug. 29	159-S	9:00 a.m.	Legislative Post Audit Budget Subcommittee	Discussion and recommendations on the agency's FY 2015 budget request.
Aug. 29	159-S	Upon adjournment of the Legislative Post Audit Budget Subcommittee	Legislative Post Audit Rules Subcommittee	Discussion and recommendations on potential changes to LPAC rules.
Aug. 29	159-S	Noon	Contract Audit Committee (Special Committee of Legislative Post Audit per K.S.A. 46-1120)	Presentations and bid awards for the statewide financial audit, KPERS financial audit, Lottery financial audit, Lottery security audit, and 911 performance audit contracts.
Sept. 3	159-S	Noon – 1:00 p.m.	Legislative Post Audit Committee	Discussion and recommendations on Economic Development (Part 1), FY 2015 Budget Request.
Sept. 4	159-S	Noon – 1:00 p.m.	Legislative Post Audit Committee	Discussion and recommendations on Larned Sex Predator Treatment Program.
Sept. 9	144-S	10:00 a.m.	Joint Committee on Information Technology	Agenda not available.
Sept. 11	KCC Topeka Office, 1500 S.W. Arrowhead	10:30 a.m.	Kansas Electric Transmission Authority (KETA)	3rd quarter meeting: routine business, transmission project updates, presentation of the role of the KCC in transmission, hearing on the role of KETA in the future.

Jeffrey M. Russell Director of Legislative Administrative Services

1042

State of Kansas 911 Coordinating Council

Notice of Meeting

The Kansas 911 Coordinating Council will meet at 11 a.m. Friday, September 6, at Hutchinson Community College, South Central Regional 911 Back Up Center, 1809 E. Essex Road, Hutchinson.

> Melissa Wangemann Kansas Association of Counties Local Collection Point Administrator

Doc. No. 041848

State of Kansas

Kansas Guardianship Program

Notice of Meeting

The Kansas Guardianship Program will conduct its governing board meeting from 2:30 to 4:30 p.m. Wednesday, September 11, at the Kansas Bankers Association, 610 Corporate View, Topeka. For more information call 785-587-8555.

> Jean Krahn Executive Director

Doc. No. 041850

State of Kansas Department of Agriculture Division of Conservation

Notice to Contractors

Project: City of Osage City, Kansas City Project No. 13-0003 Osage City Reservoir Restoration Project

Description of Work: The project consists of the removal of 100,000 CY of in-place sediment from the Osage City Reservoir and approximately 600 feet of rock-covered earthen-berm construction. Major units of work are: 100,000 CY sediment removal, hauling of material to a disposal site approximately 7 miles south of the reservoir, and grading of material at the disposal site.

Pre-Bid Conference: A pre-bid conference will be held at 1 p.m. September 19 at the Osage City City Council Chambers, 221 S. 5th St., Osage City. Representatives of the design engineer and owner will be present to answer questions. Attendance at the pre-bid conference is highly encouraged.

Bids/Bid Opening: Bids will be received until noon September 30, 2013, at the Osage City City Hall, 201 S. 5th St., Osage City, 66523-0250. The bid opening will be public, and bids will be opened at 1:30 p.m. September 30 in the Osage City City Council Chambers, 221 S. 5th St., Osage City. All bids shall be unit price or lump sum as indicated on the bid form, with add alternates, if so indicated on the bid form.

Owner: City of Osage City, Kansas, 201 S. 5th St., P.O. Box 250, Osage City, 66523-0250.

Design Engineer: Burns & McDonnell Engineering Company Inc., 9400 Ward Parkway, Kansas City, MO 64114, 402-502-8087, fax 402-502-8527, rbesancon@burnsmcd.com.

Bid Documents: Plans and bid documents may be purchased by contacting Standard Digital Imaging at 402-592-1292. Documents may be viewed at no charge at www.standardshare.com or downloaded by subscribing to BlueLine Club. (Contact Standard Digital Imaging directly for any assistance with standardshare.com.)

Cost of Documents (no refunds shall be given):

- Full-sized plans (24''x36'') and Project Manual (hard copy) with shipping \$50
- Plans and Project Manual (PDF format) \$35 (one-month BlueLine Club subscription).

Copies of the drawings and project manual are on file and open for public inspection at the Osage City City Hall.

Bid Security: All bids must be accompanied by a certified check, cashier's check or a bid bond for not less than 5 percent of the amount bid, said check or bid bond to be made payable to the city of Osage City, Kansas.

Bidders are asked to submit questions and comments relative to these bidding documents to the engineer. Comments shall be received not later than the close of business September 23. All questions, suggestions and/or clarifications shall be submitted via email or facsimile. Email will provide for faster response. Decisions will not be made based on telephone discussions.

Submittal: Bids shall be submitted in sealed envelopes addressed to the office of the city clerk, city of Osage City, City Hall, 201 S. 5th St., Osage City, 66523. Bid submittal requirements are provided in the Instructions to Bidders.

Greg A. Foley Executive Director Division of Conservation

Doc. No. 041858

State of Kansas

Department of Health and Environment

Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-13-230/235

Pending Permits for Confined Feeding Facilities

Name and Address	Legal	Receiving
of Applicant	Description	Water
Edward Pfrang	NW/4 of Section 23,	Missouri River
Edward Pfrang Feedlot	T03S, R13E,	Basin
1750 120th Road	Nemaha County	
1750 120th Road Goff, KS 66428	Nemaha County	

Kansas Permit No. A-MONM-B009

This is a permit modification and reissuance for an expanding facility with the proposed maximum capacity of 999 head (999 animal units) of cattle weighing greater than 700 pounds. This represents an increase in the permitted animal units from the previous permit. The facility currently consists of approximately 11 acres of open lot pens. Proposed modifications to the facility include the construction of two sediment basins, an earthen waste storage pond, and two freshwater diversions to replace the current waste management system. A portion of the existing pen area will be relocated.

Name and Address	Legal	Receiving
of Applicant	Description	Water
Gene Tilton Tilton Feedlot 708 Southwood Court Quinter, KS 67752	SE/4 of Section 27 & SW/4 of Section 34, T10S, R26W, Sheridan County	Saline River Basin

Kansas Permit No. A-SASD-B004

This permit is being reissued for an existing facility with a maximum capacity of 990 head (990 animal units) of cattle more than 700 pounds. There is no change in the permitted animal units.

Name and Address	Legal	Receiving
of Applicant	Description	Water
Steve Luthi Luthi Farms 1178 Navajo Road Clay Center, KS 67432	NE/4 of Section 07, T09S, R03E & NW/4 of Section 08, T08S, R03E, Clay County	

Kansas Permit No. A-LRCY-S017

This permit is being reissued for an existing facility with a maximum capacity of 860 head (744 animal units) of swine more than 55 pounds, 900 head (90 animal units) of swine 55 pounds or less, 60 head (60 animal units) of cattle more than 700 pounds and 60 head (30 animal units) of cattle 700 pounds or less, for a total of 924 animal units. There is no change in the permitted animal units.

Name and Address	Legal	Receiving
of Applicant	Description	Water
Hal J. Palenske	E/2 of Section 17,	Neosho River
Palenske Ranch, Inc.	T19S, R09E, Chase	Basin
2274A Old Highway 50 Strong City, KS 66869	County	

Kansas Permit No. A-NECS-C002 Federal Permit No. KS0096920

This permit is being reissued for an existing facility for 15,000 head (15,000 animal units) of cattle weighing greater than 700 pounds. There is no change in the permitted animal units from the previous permit. The facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Jack Eklund Eklund Feedlot P.O. Box 665 Goodland, KS 67735	SE/4 of Section 14, T08S, R40W, Sherman County	Upper Republican River Basin
Kansas Permit No. A-URSH-	B007	

Name and Address of Applicant	Legal Description	Receiving Water
Lyle Sundstrom	E/2 of Section 17,	Marais des
Sundstrom Farms Inc.	T16S, R19E,	Cygnes River
2057 Sandcreek Terrace	Franklin County	Basin
Ottawa, KS 66067		
Kansas Permit No. A-MCF	R-M004	

This is a permit modification and reissuance for an existing facility with the maximum capacity for 285 head (399 animal units) of mature dairy cows, 101 head (101 animal units) of dairy heifers weighing greater than 700 pounds and 200 head (100 animal units) of dairy calves weighing 700 pounds or less, for a total of 600 animal units of dairy cattle. The permit is being modified to include the existing heifer pen and silage storage area. The normal operating level of the retention control structure is also being modified.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural-related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 S.W. Jackson, Suite 420, Topeka, 66612-1367.

All comments regarding the draft documents or application notices received on or before September 28 will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-13-230/235) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the secretary of the Department of Health and Environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available on the Internet at http://www.kdheks.gov/feedlots. Division of Environment offices are open from 8 a.m. to 5 p.m. Monday through Friday, excluding holidays.

> Robert Moser, M.D. Secretary of Health and Environment

State of Kansas

State Fair Board

Notice of Meeting

The Kansas State Fair Board will meet daily from Friday, September 6, through Sunday, September 15, in Hutchinson. For more information contact Denny Stoecklein at 620-669-3600 or denny@kansasstatefair.com.

> Ron Hinrichsen President

Doc. No. 041845

State of Kansas

Department of Health and Environment

Request for Bids

Pursuant to the Kansas Childhood Lead Poisoning Prevention Program, sealed bids for lead hazard reduction at the following properties will be received by the Kansas Department of Health and Environment until 2 p.m. on the date indicated. For more information call 316-683-6629:

September 4, 2013 IFB 264-14-36 Project Safe at Home Wichita

,	
Property #1	700 S.W. Fillmore Topeka, KS 66606
Property #2	1528 S.E. Sage Topeka, KS 66605
Property #3	3363 S.W. Clare Topeka, KS 66611
Property #4	107 N.W. Western Topeka, KS 66606
Property #5	532 N.E. Lime St. Topeka, KS 66616
Property #6	548 N.E. Lime St. Topeka, KS 66616
Property #7	1801 S.W. Valley Glen Road Topeka, KS 66615
Property #8	2435 S.E. Wisconsin Topeka, KS 66605
Property #9	615 W. 10th St. Junction City, KS 66441

Contractors will be required to attend a walk-through of each property in order to be eligible to respond to the Invitation for Bid. For times and actual locations call 316-683-6629 or go to the following website:

http://www.kshealthyhomes.org

The above-referenced bid documents can be down-loaded at the website listed above.

Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 041857

State of Kansas Kansas Development Finance Authority

Notice of Hearing

A public hearing will be conducted at 9 a.m. Thursday, September 12, in the offices of the Kansas Development Finance Authority, 555 S. Kansas Ave., Suite 202, Topeka, on the proposal for the KDFA to issue its Agricultural Development Revenue Bonds for the projects numbered below in the respective maximum principal amounts. The bonds will be issued to assist the borrowers named below (who will be the owner and operator of the projects) to finance the cost in the amount of the bonds, which is then typically purchased by a lender bank who then, through the KDFA, loans the bond proceeds to the borrower for the purposes of acquiring the project. The projects shall be located as shown:

Project No. 000866 — **Maximum Principal Amount: \$165,000.** Owner/Operator: Nathan S. and Rebecca D. Kejr. Description: Acquisition of 78 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes. The project is being financed by the lender for Nathan S. and Rebecca D. Kejr and is located at Section 6, Township 14 South, Range 3 West in Saline County, Kansas, approximately 2 miles east of Salina on State Street then 2 miles north on Halsted and 1.5 miles west on Stimmel Road.

Project No. 000867 — **Maximum Principal Amount: \$501,000.** Owner/Operator: Timothy L. and Debra Sanders. Description: Acquisition of 313.3 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes. The project is being financed by the lender for Timothy L. and Debra Sanders and is located at the South Half of Section 27, Township 14, Range 3, Dickinson County, Kansas, approximately .5 mile west of Navarre on 1400 Avenue.

The bonds, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will they be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bonds will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bonds when they become due.

All individuals who appear at the hearing will be given an opportunity to express their views concerning the proposal to issue the bonds to finance the projects, and all written comments previously filed with the KDFA at its offices at 555 S. Kansas Ave., Suite 202, Topeka, 66603, will be considered. Additional information regarding the projects may be obtained by contacting the KDFA.

> Tim Shallenburger President

(Published in the Kansas Register August 29, 2013.)

Summary Notice of Bond Sale City of Bel Aire, Kansas \$3,895,000* General Obligation Bonds Series 2013D

(General obligation bonds payable from unlimited ad valorem taxes)

Bids

Subject to the Notice of Bond Sale dated August 20, 2013, written and electronic bids will be received on behalf of the clerk of the city of Bel Aire, Kansas (the issuer), in the case of written bids, at the address set forth below, and in the case of electronic bids, through PARITY, until 10:30 a.m. (CDT) September 17, 2013, for the purchase of the above-referenced bonds. No bid of less than 98.8 percent of the principal amount of the bonds and accrued interest thereon to the date of delivery will be considered.

Bond Details

The bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The bonds will be dated September 30, 2013, and will become due on October 1 in the years as follows:

Year	Principal Amount*
2014	\$165,000
2015	165,000
2016	165,000
2017	175,000
2018	175,000
2019	190,000
2020	195,000
2021	200,000
2022	205,000
2023	210,000
2024	215,000
2025	220,000
2026	235,000
2027	240,000
2028	240,000
2029	165,000
2030	165,000
2031	180,000
2032	190,000
2033	200,000

The bonds will bear interest from the date thereof at rates to be determined when the bonds are sold as hereinafter provided, which interest will be payable semiannually on April 1 and October 1 in each year, beginning April 1, 2014.

Adjustment of Issue Size

The issuer reserves the right, after proposals are opened and prior to award, to increase or reduce the principal amount of the bonds or the amount of any maturity in multiples of \$5,000, depending on prepayment of special assessments and depending on the purchase price and interest rates bid and the offering prices specified by the successful bidder.

In the event the amount of any maturity is modified, the aggregate purchase price will be adjusted to result in the same gross spread per \$1,000 of bonds as that of the original proposal.

Gross spread is the differential between the price paid to the issuer for the new issue and the prices at which the securities are initially offered to the investing public. The successful bidder may not withdraw its bid or change the interest rates bid as a result of any changes made to the principal amount of the bonds or principal of any maturity as described herein. If there is an increase or decrease in the final aggregate principal amount of the bonds or the schedule of principal payments as described above, the issuer will notify the successful bidder by means of telephone or facsimile transmission, subsequently confirmed in writing, not later than 3 p.m. (CDT) on the sale date.

Book-Entry-Only System

The bonds shall be registered under a book-entry-only system administered through DTC.

Paying Agent and Bond Registrar

Kansas State Treasurer, Topeka, Kansas.

Good Faith Deposit

Each bid shall be accompanied by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States, a qualified financial surety bond or a wire transfer in Federal Reserve funds immediately available for use by the issuer in the amount of \$77,900.*

Delivery

The issuer will pay for printing the bonds and will deliver the same properly prepared, executed and registered without cost to the successful bidder on or about September 30, 2013, to DTC for the account of the successful bidder.

Assessed Valuation and Indebtedness

The equalized assessed tangible valuation for computation of bonded debt limitations for the year 2012 is \$52,076,199. The total general obligation indebtedness of the issuer as of the dated date, including the bonds being sold, and other bonds being sold contemporaneously, but excluding temporary notes and bonds to be retired in connected with the issuance of the bonds, is \$28,750,000.

Approval of Bonds

The bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, bond counsel, whose approving legal opinion as to the validity of the bonds will be furnished and paid for by the issuer, printed on the bonds and delivered to the successful bidder when the bonds are delivered.

Additional Information

Additional information regarding the bonds may be obtained from the undersigned, or from the financial advisor, at the addresses set forth below.

Issuer Address:

Jamie Hayes, Clerk 7651 E. Central Park Ave. Bel Aire, KS 67226 316-744-2451 Fax: 316-744-3739

(continued)

cityclerk@belaireks.org

Financial Advisor – Written and Facsimile Bid and **Good Faith Deposit Address:**

Springsted Incorporated, Attn: Bond Services 380 Jackson St., Suite 300 St. Paul, MN 55101-2887 651-223-3000 Fax: 651-223-3046 bond_services@springsted.com

Dated August 20, 2013.

City of Bel Aire, Kansas

*Preliminary; subject to change. Doc. No. 041864

(Published in the Kansas Register August 29, 2013.)

Summary Notice of Sale City of Spring Hill, Kansas \$1,625,000* **General Obligation Bonds** Series 2013A

(General obligation bonds payable from unlimited ad valorem taxes)

Bids

Subject to the Notice of Bond Sale dated August 23, 2013, bids will be received on behalf of the finance director of the city of Spring Hill, Kansas, at the offices of Springsted Incorporated, 380 Jackson St., Suite 300, St. Paul, MN 55101-2887, by telephone at 651-223-3000 or via facsimile at 651-223-3046, or, in the case of electronic proposals, via PARITY electronic bid submission system, until 10 a.m. (CDT) September 12, 2013, for the purchase of \$1,625,000* principal amount of General Obligation Bonds, Series 2013A. No bid of less than the entire par value of the bonds, except a discount of not greater than 1.2 percent of the par value of the bonds, plus accrued interest to the date of delivery, will be considered. Bidders may be required to be qualified in a manner established by the city before submitting a bid.

Bond Details

The bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The bonds will be dated October 10, 2013 (the dated date), and will become due on September 1 in the years as follows:

	Principal
Year	Amount*
2014	\$75,000
2015	80,000
2016	80,000
2017	80,000
2018	80,000
2019	80,000
2020	80,000
2021	85,000
2022	90,000
2023	90,000
2024	70,000
2025	70,000
2026	70,000

2027	75,000
2028	80,000
2029	80,000
2030	85,000
2031	90,000
2032	90,000
2033	95,000

The bonds will bear interest from the dated date at rates to be determined when the bonds are sold as provided in the Notice of Sale, which interest will be payable semiannually on March 1 and September 1 in each year, beginning March 1, 2014. A bidder may elect to have all or a portion of the bonds scheduled to mature in consecutive years issued as term bonds subject to the requirements set forth in the Notice of Sale.

Paying Agent and Bond Registrar

Good Faith Deposit

Each bid shall be accompanied by a cashier's or certified check drawn on a bank located in the United States, a financial surety bond or a wire transfer of same-day funds in accordance with the requirements set forth in the Notice of Sale in an amount equal to 2 percent of the principal amount of bonds.

Deliverv

The city will pay for preparation of the bonds and will deliver the same properly prepared, executed and registered without cost to the successful bidder on or about October 10, 2013, at the offices of the Depository Trust Company, New York, New York.

Assessed Valuation and Indebtedness

The equalized assessed tangible valuation for computation of bonded debt limitations for the year 2012 is \$61,544,055. The total general obligation indebtedness of the city as of the date of the bonds, including the bonds being sold, is \$25,911,609.

Approval of Bonds

The bonds will be sold subject to the legal opinion of Kutak Rock LLP, Kansas City, Missouri, bond counsel, whose approving legal opinion as to the validity of the bonds will be furnished and paid for by the city and delivered to the successful bidder when the bonds are delivered.

Additional Information

Additional information regarding the bonds may be obtained from Melanie Landis, the city's finance director, 913-592-3664; from the financial advisor, Springsted Incorporated of St. Paul, Minnesota, 651-223-3000; or from bond counsel, Kutak Rock LLP, 1010 Grand Blvd., Suite 500, Kansas City, MO 64106-2220, 816-960-0090, Attention: Dorothea Riley.

Dated August 22, 2013.

*Subject to change.

Doc. No. 041861

City of Spring Hill, Kansas By Melanie Landis, Finance Director Spring Hill City Hall 401 N. Madison Spring Hill, KS 66083

Kansas State Treasurer, Topeka, Kansas.

Bond Sale

(Published in the Kansas Register August 29, 2013.)

City of Maize, Kansas

Notice of Intent to Seek Private Placement General Obligation Bonds, Series 2013C

Notice is hereby given that the city of Maize, Kansas (the issuer), proposes to seek a private placement of the above-referenced bonds. The maximum aggregate principal amount of the bonds shall not exceed \$1,495,000. The proposed sale of the bonds is in all respects subject to approval of a bond purchase agreement between the issuer and the purchaser of the bonds and the passage of an ordinance and adoption of a resolution by the governing body of the issuer authorizing the issuance of the bonds and the execution of various documents necessary to deliver the bonds.

Dated August 19, 2013.

Jocelyn Reid	
City Clerk	

Doc. No. 041859

(Published in the Kansas Register August 29, 2013.)

Summary Notice of Bond Sale City of Topeka, Kansas \$9,755,000* General Obligation Bonds Series 2013-B

(General obligation bonds payable from unlimited ad valorem taxes)

Bids

Subject to the Official Notice of Bond Sale and Preliminary Official Statement to be dated on or about September 3, 2013, facsimile and electronic (explained below) bids for the purchase of General Obligation Bonds, Series 2013-B, in the aggregate principal amount of \$9,755,000* of the city of Topeka, Kansas, will be received on behalf of the governing body of the city by the city's financial advisor, in the case of facsimile bids, at 913-312-8053, and in the case of electronic bids, on the Columbia Capital Auction website, http://www.columbiacapitalauction.com, until 9:30 a.m. (CDT) Tuesday, September 10, 2013. No bid of less than 98.00 percent of the aggregate principal amount of the bonds, plus accrued interest, if any, thereon to the date of delivery will be considered, and no supplemental interest payments will be considered.

Bond Details

The bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The bonds will initially be registered in the name of Cede & Co., as nominee of the Depository Trust Company, New York, New York, to which payments of principal of and interest on the bonds will be made. Individual purchases of bonds will be made in book-entry form only. Purchasers will not receive certificates representing their interest in bonds purchased. The bonds will be dated September 30, 2013, and will become due on August 15 in the years as follows:

Year (August 15)	Principal Amount*
2015	\$360,000
2016	375,000
2017	385,000
2018	390,000
2019	405,000
2020	415,000
2021	435,000
2022	455,000
2023	475,000
2024	490,000
2025	510,000
2026	530,000
2027	555 <i>,</i> 000
2028	585,000
2029	615,000
2030	645,000
2031	675,000
2032	710,000
2033	745,000

The city reserves the right to modify the total amount of the bonds and the amount of any maturity in order to properly structure certain funds and accounts and substantially obtain annual debt service parameters determined by the city, based upon the interest rates and reoffering yields submitted by the successful bidder. In formulating bids, bidders should consider that bids generating significant premium may result in greater principal amortization in later years and bids generating significant discount may result in greater principal in earlier years. Upon notification of preliminary award, the successful bidder must transmit to the city within 20 minutes, by fax or email, its reoffering yields on the bonds. The successful bidder will be notified by means of telephone or facsimile transmission of any modification to such principal amount not later than 2 p.m. (CDT) on the sale date. If the principal amounts are modified, the city will seek to modify the maturity schedule, or make other mutually agreeable changes, in a way that will neither increase nor reduce the successful bidder's spread as a percentage of the principal amount of the bonds issued after taking into account such adjustments. The successful bidder may not withdraw its bid or change the interest rates bid as a result of any changes made to the principal amount of the bonds or principal of any maturity as described herein.

The bonds will be subject to mandatory and optional redemption prior to maturity as provided in the Official Notice of Bond Sale.

The bonds will bear interest from the date thereof at rates to be determined when the bonds are sold as hereinafter provided, which interest will be payable semiannually on February 15 and August 15 in each year, beginning February 15, 2014.

Pre-Bid Revisions

The city reserves the right to issue a Supplemental Notice of Sale not later than 48 hours prior to the sale date via the electronic bidding website (http://www.columbia capitalauction.com). If issued, the Supplemental Notice (continued)

Bond Sale

may modify (i) the maturity amounts of the bonds and/ or (ii) such other terms of this notice as the city determines. Any such modifications will supersede the maturities and such other terms as set forth herein.

Paying Agent and Bond Registrar

The Kansas State Treasurer, Topeka, Kansas, is designated as the paying agent and bond registrar for the bonds.

Good Faith Deposit

Each bid shall be accompanied by either a cashier's or certified check drawn on a bank located in the United States, a qualified financial surety bond **or** wire transfer in the amount of \$195,100 (representing 2 percent of the principal amount of the bonds).

Delivery

The city will pay for printing the bonds and will deliver the same properly prepared, executed and registered to the facilities of the Depository Trust Company, Jersey City, New Jersey, without cost to the successful bidder on or about September 30, 2013.

Assessed Valuation and Indebtedness

The total assessed valuation of taxable tangible property in the city for the year 2013 is \$1,026,131,619. The total general obligation bonded indebtedness of the city is \$203,435,000, following the concurrent issuance of the bonds, and the issuance of the city's Taxable General Obligation Bonds, Series 2013-C (Employee Separation Benefit Funding), in the principal amount of \$5,000,000, and Temporary Notes, Series 2013-A (General Improvements), in the principal amount of \$24,975,000, and less the Series 2012-A Notes in the principal amount of \$16,540,000, being redeemed and paid on October 1, 2013.

Approval of Bonds

The bonds will be sold subject to the legal opinion of Nichols and Wolfe Chartered, Topeka, Kansas, bond counsel, whose approving legal opinion as to the validity of the bonds will be furnished and paid for by the city and delivered to the successful bidder when the bonds are delivered.

Additional Information

Electronic copies of the Preliminary Official Statement and Official Notice of Bond Sale may be found at http:// www.columbiacapitalauction.com. Additional information regarding the bonds may be obtained from Pam Simecka, city controller, at 785-368-3970 or fax 785-368-3975, or from the city's financial advisor, Columbia Capital Management, LLC, 6330 Lamar Ave., Suite 200, Overland Park, KS 66202, 913-248-8500 or fax 913-248-8900.

Dated August 22, 2013.

City of Topeka, Kansas Brenda Younger, City Clerk City Hall 215 S.E. 7th St. Topeka, KS 66603 785-368-3940

*Subject to change. Doc. No. 041853 (Published in the Kansas Register August 29, 2013.)

Summary Notice of Bond Sale City of Topeka, Kansas \$5,000,000* Taxable General Obligation Bonds Series 2013-C (Employee Separation Benefit Funding)

(General obligation bonds payable from unlimited ad valorem taxes)

Bids

Subject to the Official Notice of Bond Sale and Preliminary Official Statement to be dated on or about September 3, 2013, facsimile and electronic (explained below) bids for the purchase of Taxable General Obligation Bonds, Series 2013-C (Employee Separation Benefit Funding), in the aggregate principal amount of \$5,000,000* of the city of Topeka, Kansas, will be received on behalf of the governing body of the city by the city's financial advisor, in the case of facsimile bids, at 913-312-8053, and in the case of electronic bids, on the Columbia Capital Auction website, http://www.columbiacapitalauction.com, until 10:30 a.m. (CDT) Tuesday, September 10, 2013. No bid of less than 98.00 percent of the aggregate principal amount of the bonds, plus accrued interest, if any, thereon to the date of delivery will be considered, and no supplemental interest payments will be considered.

Bond Details

The bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The bonds will initially be registered in the name of Cede & Co., as nominee of the Depository Trust Company, New York, New York, to which payments of principal of and interest on the bonds will be made. Individual purchases of bonds will be made in book-entry form only. Purchasers will not receive certificates representing their interest in bonds purchased. The bonds will be dated September 30, 2013, and will become due on August 15 in the years as follows:

Year (August 15)	Principal Amount*
2015	\$975,000
2016	985,000
2017	995,000
2018	1,010,000
2019	1,035,000

The city reserves the right to modify the total amount of the bonds and the amount of any maturity in order to properly structure certain funds and accounts and substantially obtain annual debt service parameters determined by the city, based upon the interest rates and reoffering yields submitted by the successful bidder. in formulating bids, bidders should consider that bids generating significant premium may result in greater principal amortization in later years and bids generating significant discount may result in greater principal in earlier years. Upon notification of preliminary award, the successful bidder must transmit to the city within 20 minutes, by fax or email, its reoffering yields on the bonds. The successful bidder will be notified by means of

Kansas Register

telephone or facsimile transmission of any modification to such principal amount not later than 2 p.m. (CDT) on the sale date. If the principal amounts are modified, the city will seek to modify the maturity schedule, or make other mutually agreeable changes, in a way that will neither increase nor reduce the successful bidder's spread as a percentage of the principal amount of the bonds issued after taking into account such adjustments. The successful bidder may not withdraw its bid or change the interest rates bid as a result of any changes made to the principal amount of the bonds or principal of any maturity as described herein.

The bonds will be subject to mandatory and optional redemption prior to maturity as provided in the official notice of bond sale.

The bonds will bear interest from the date thereof at rates to be determined when the bonds are sold as hereinafter provided, which interest will be payable semiannually on February 15 and August 15 in each year, beginning February 15, 2014.

Pre-Bid Revisions

The city reserves the right to issue a Supplemental Notice of Sale not later than 48 hours prior to the sale date via the electronic bidding website (http://www.columbia capitalauction.com). If issued, the Supplemental Notice may modify (i) the maturity amounts of the bonds and/ or (ii) such other terms of this notice as the city determines. Any such modifications will supersede the maturities and such other terms as set forth herein.

Paying Agent and Bond Registrar

The Kansas State Treasurer, Topeka, Kansas, is designated as the paying agent and bond registrar for the bonds.

Good Faith Deposit

Each bid shall be accompanied by either a cashier's or certified check drawn on a bank located in the United States, a qualified financial surety bond **or** wire transfer in the amount of \$100,000 (representing 2 percent of the principal amount of the bonds).

Delivery

The city will pay for printing the bonds and will deliver the same properly prepared, executed and registered to the facilities of the Depository Trust Company, Jersey City, New Jersey, without cost to the successful bidder on or about September 30, 2013.

Assessed Valuation and Indebtedness

The total assessed valuation of taxable tangible property in the city for the year 2013 is \$1,026,131,619. The total general obligation bonded indebtedness of the city is \$203,435,000, following the issuance of the bonds and the issuance of the city's General Obligation Bonds, Series 2013-B, in the principal amount of \$9,755,000, and Temporary Notes, Series 2013-A (General Improvements), in the principal amount of \$24,975,000, and less the Series 2012-A Notes in the principal amount of \$16,540,000, being redeemed and paid on October 1, 2013.

Approval of Bonds

The bonds will be sold subject to the legal opinion of Nichols and Wolfe Chartered, Topeka, Kansas, bond

counsel, whose approving legal opinion as to the validity of the bonds will be furnished and paid for by the city and delivered to the successful bidder when the bonds are delivered.

Additional Information

Electronic copies of the Preliminary Official Statement and Official Notice of Bond Sale may be found at http:// www.columbiacapitalauction.com. Additional information regarding the bonds may be obtained from Pam Simecka, city controller, at 785-368-3970 or fax 785-368-3975, or from the city's financial advisor, Columbia Capital Management, LLC, 6330 Lamar Ave., Suite 200, Overland Park, KS 66202, 913-248-8500 or fax 913-248-8900.

Dated August 22, 2013.

City of Topeka, Kansas Brenda Younger, City Clerk City Hall 215 S.E. 7th St. Topeka, KS 66603 785-368-3940

*Subject to change.

Doc. No. 041854

State of Kansas

Department of Commerce

Permanent Administrative Regulations

Article 6.—HIGH PERFORMANCE INCENTIVE PROGRAM

110-6-1. (Authorized by and implementing K.S.A. 1999 Supp. 74-50,131, as amended by L. 2000, ch. 157, sec. 8; effective, T-110-8-17-93, Aug. 17, 1993; effective Nov. 15, 1993; amended, T-110-4-25-00, April 25, 2000; amended Feb. 23, 2001; revoked Sept. 13, 2013.)

110-6-1a. (Authorized by K.S.A. 1999 Supp. 74-50,115, as amended by L. 2000, ch. 157, sec. 6 and K.S.A. 74-50,131, as amended by L. 2000, ch. 157, sec. 8; implementing K.S.A. 1999 Supp. 74-50,115, as amended by L. 2000, ch. 157, sec. 6, K.S.A. 74-50,131, as amended by L. 2000, ch. 157, sec. 8, and K.S.A. 1999 Supp. 74-50,132; effective, T-110-4-25-00, April 25, 2000; effective Feb. 23, 2001; revoked Sept. 13, 2013.)

110-6-2. (Authorized by and implementing K.S.A. 1999 Supp. 74-30,131, as amended by L. 2000, ch. 157, sec. 8; effective, T-110-8-17-93, Aug. 17, 1993; effective Nov. 15, 1993; amended, T-110-4-25-00, April 25, 2000; amended Feb. 23, 2001; revoked Sept. 13, 2013.)

110-6-3. (Authorized by K.S.A. 1999 Supp. 74-50,131, as amended by L. 2000, ch. 157, sec. 8; implementing K.S.A. 1999 Supp. 74-50,131, as amended by L. 2000, ch. 157, sec. 8 and K.S.A. 1999 Supp. 74-50,132; effective, T-110-8-17-93, Aug. 17, 1993; effective Nov. 15, 1993; amended, T-110-4-25-00, April 25, 2000; amended Feb. 23, 2001; revoked Sept. 13, 2013.)

(continued)

110-6-4. (Authorized by K.S.A. 1999 Supp. 74-50,131, as amended by L. 2000, ch. 157, sec. 8; implementing K.S.A. 1999 Supp. 74-50,131, as amended by L. 2000, ch. 157, sec. 8 and K.S.A. 1999 Supp. 74-50,133; effective, T-110-8-17-93, Aug. 17, 1993; effective Nov. 15, 1993; amended, T-110-4-25-00, April 25, 2000; amended Feb. 23, 2001; revoked Sept. 13, 2013.)

110-6-5. (Authorized by and implementing K.S.A. 1999 Supp. 74-50,131, as amended by L. 2000, ch. 157, sec. 8; effective, T-110-8-17-93, Aug. 17, 1993; effective Nov. 15, 1993; amended, T-110-4-25-00, April 25, 2000; amended Feb. 23, 2001; revoked Sept. 13, 2013.)

110-6-6. (Authorized by and implementing 1993 SB 73, section 1 (b); effective, T-110-8-17-93, Aug. 17, 1993; effective Nov. 15, 1993; revoked Sept. 13, 2013.)

110-6-7. (Authorized by and implementing L. 1993, Chap. 172, Sec. 1; effective Nov. 15, 1993; revoked Sept. 13, 2013.)

110-6-8. Definitions. As used in this article and for purposes of administering HPIP, the following terms shall have the following meanings:

(a) "Alternative wage standard" means one and onehalf times the state average wage and is updated annually on the department's web site, based on data maintained by the Kansas secretary of labor. An alternative wage standard may be used only after subtracting all employees with five percent equity in the business from all internal wage calculations, as provided by K.S.A. 74-50,131(e) and amendments thereto.

(b) "Applicant" means a legal entity seeking to certify a qualified firm through the HPIP application process.

(c) "Average internal wage" means the wage computed for the employees attached to a worksite and shall be calculated by one of the following methods:

(1) Dividing the average headcount of part-time plus full-time employees at the worksite as reported on the "quarterly wage report and unemployment tax return" or "multiple worksite report" for the measurement period into total payroll costs that have been paid over the same measurement period; or

(2) dividing the number of FTE employees into total payroll costs that have been paid over the same measurement period.

(d) "Back-office operation" means a wholly owned company worksite location that meets all of the following criteria:

(1) The main activities are functions that support the core focus of the business.

(2) Support activities are performed for other companyowned worksites in which the company has more than 50 percent equity.

(3) The worksite could have been geographically located anywhere.

(e) "Certificate of intent to invest" means a project description form.

(f) "Certification period" means the interval during which a worksite is eligible to receive HPIP benefits according to K.A.R. 110-6-11.

(g) "Combined worksite" means two or more worksites referenced on the same application according to K.A.R. 110-6-11. (h) "Commence investment" means to make a formal commitment and to invest, with both actions being directly connected to the project description form previously submitted to the department.

(i) "Commercial customer" means an organized entity that engages in the manufacture or sale of products or the provision of services to other entities or individuals.

(j) "Core focus" means an activity that is designated by the NAICS code number assigned to a company and produces more than 50 percent of a company's revenue.

(k) "Department" means Kansas department of commerce.

(l) "Formal commitment to invest," for a company, means one or both of the following:

(1) The company relocates assets that it already owns to Kansas from an out-of-state location.

(2) The company enters into a written agreement that provides either party with legally enforceable remedies if the agreement is breached.

(m) "Fully operational," when used to describe a new worksite, means that the worksite is performing substantially all major core focus functions.

(n) "Full-time-equivalent employees" and "FTE employees," for purposes of calculating internal average wage during a measurement period, shall include leased employees and shall be computed by the following method:

(1) The number of hours worked by any permanent employees who normally work fewer than 40 hours per week shall be totaled and then divided by 2,080 hours, dropping any fractions.

(2) The result of paragraph (n)(1) then shall be added to the average number of employees who normally worked 40 or more hours per week during the measurement period.

(o) ¹Government customer," as used in the act, means an organization that is not a related taxpayer, as defined by K.S.A. 79-32,154(h) and amendments thereto, and meets one of the following conditions:

(1) Is classified in major NAICS code sections 922 through 928; or

(2) is a customer that is funded primarily with tax dollars and is not classified as a for-profit or a not-for-profit organization.

(p) "Gross revenues," as used in K.S.A. 74-50,131 and amendments thereto, means that term as commonly used in financial and accounting applications under generally accepted accounting principles (G.A.A.P) in the United States.

(q) "Headquarters," as used in K.S.A. 74-50,131 (g)(6) and amendments thereto, means a worksite that meets all of the following conditions:

(1) The main activity at the worksite is providing direction, management, or administrative support for the operation of multiple company-owned worksites in which the applicant company has an ownership interest greater than 50 percent.

(2) The worksite is capable of being geographically located anywhere.

(r) "High-performance incentive program" and "HPIP" mean the department's incentive program that

may provide tax benefits to a worksite pursuant to K.S.A. 74-50,131 and amendments thereto.

(s)(1) "HPIP source-of-revenue requirement" means the requirement for the types of businesses listed in K.S.A. 74-50,131(b), and amendments thereto, that more than 50 percent of total revenue at the worksite shall be generated from sales to any of the following:

(A) Kansas manufacturers assigned to major NAICS categories 311 through 339;

(B) out-of-state government customers;

(C) out-of-state commercial customers; or

(D) any combination of paragraphs (s)(1)(A) through (C).

(2) Revenues that shall be specifically excluded as eligible revenues under the HPIP source-of-revenue requirement are the following:

(A) Revenues generated as payment for medical services from Medicare, Medicaid, or any related administrative organizations; and

(B) revenues generated from medical services or products delivered to or used by individual patients, regardless of the source of payment.

(t) "KIT" means Kansas industrial training, as defined in K.S.A. 74-5065(a) and amendments thereto.

(u) "KIR" means Kansas industrial retraining, as defined in K.S.A. 74-5065(b) and amendments thereto.

(v) "Leased employees" shall include employees who meet the following criteria:

(1) Are engaged at the worksite pursuant to an agreement with a third party;

(2) are filling positions that are one year or longer in duration; and

(3) receive wages and benefits that are paid either directly or indirectly by the worksite where the leased employees are engaged.

(w) "Main activity" means an activity that utilizes more than 50 percent of the total square feet at a worksite or more than 50 percent of the total number of employees at a worksite.

(x) "Measurement period" and "MP" mean the four consecutive calendar quarters that a company shall use to meet and document satisfaction of the HPIP eligibility requirements.

(1) For a worksite expansion with an existing workforce, the MP shall be the four calendar quarters that immediately precede the selected certification period.

(2) For a new worksite with a new workforce, the MP shall be the first full four consecutive calendar quarters of operation at the new worksite.

(y) "Multinational corporation" and "multinational firm" mean a legal entity with at least one permanent worksite in the United States and one or more additional permanent worksites established in one or more other countries, with attendant personnel and owned or leased facilities, equipment, and infrastructure.

(z) "NAICS designation" means a six-digit designation in the North American industry classification system that identifies the main activities performed at a worksite. The NAICS designation is initially assigned to a worksite by the Kansas department of labor. At the request of the applicant, the Kansas department of labor's NAICS designation may be reviewed and adjusted by the secretary, if deemed appropriate, based upon the actual activity at the worksite.

(aa) "National corporation" and "national firm" mean a legal entity that has operations covering a broad geographical area within the U.S., with multiple permanent worksites wholly owned or affiliated with other legal entities, with attendant personnel and owned or leased facilities, equipment, and infrastructure.

(bb) "Nonmanufacturing business" means any commercial enterprise other than a manufacturing business assigned to major NAICS categories 311 through 339.

(cc) "On-the-job training" and "OJT" mean training situations during which a product or service that can be sold or used in internal operations is generated.

(dd) "Project description form" and "PD form" mean a form required as the first step to be able to access HPIP benefits. This form provides proof of foreknowledge of the HPIP program and shall be completed, signed, and submitted to the department before any formal commitment to invest.

(ee) "Qualified business facility investment" has the meaning specified in K.S.A. 79-32,154, and amendments thereto.

(ff) "Related taxpayer" has the meaning specified in K.S.A. 79-32,154, and amendments thereto.

(gg) "Sales to Kansas manufacturers," as used in the act, means sales to organizations that are not related taxpayers, in which the purchased goods or services are paid for by the purchasing organization or its designated agent and the purchased goods or services are delivered within Kansas to a worksite assigned to major NAICS categories 311 through 339 by the Kansas department of labor. Sales orders and payments may originate from either inside or outside Kansas.

(hh) "Secretary" means secretary of commerce.

(ii) "Total payroll cost" means the payroll amount defined by the Kansas department of labor as "total wages" on line 12 of the "quarterly wage report and unemployment tax return" or the "multiple worksite report." For a worksite, total payroll cost during the appropriate measurement period may be combined with any pretax earnings in which an employee has elected to direct to one of the following:

(1) A flexible-spending plan;

(2) a deferred compensation plan; or

(3) a retirement plan that includes earnings the employee would otherwise have received in the form of taxable wages had it not been for the voluntary deferral.

This term shall not include company-paid costs for health insurance, dental insurance, and any other employee benefits that are not reported to the Kansas department of labor on the employer's quarterly wage report or the multiple worksite report.

(jj) "Training and education eligible expense" means the amount actually paid for training and education of the group of employees, or portion thereof, that is used to determine the average wage at the worksite location, and from which the worksite expects to derive increased productivity or quality. The determination of expenditures that constitute training and education eligible expenses shall include the following:

(continued)

(1) Eligible training and education expenditures shall include instructor salaries, curriculum planning and development, travel, materials and supplies, textbooks, manuals, minor training equipment, certain training facility costs, and any other expenditure that is eligible under KIT or KIR.

(2) The following other expenditures shall be allowable but shall be subject to maximum caps:

(A) Wages of employees during eligible training, up to a maximum of 400 percent of the applicable HPIP alternative wage standard hourly wage;

(B) employee instructors' salaries, subject to a maximum of 400 percent of the applicable HPIP alternative wage standard hourly wage; and

(C) training-related travel expenses, with a maximum meals allowance of \$120 per day and lodging costs of \$300 per night.

(3) Expenditures for the following shall be excluded as training and education eligible expenses:

(A) Compensation paid to an employee trainee who is receiving on-the-job training;

(B) compensation paid to an employee during selftraining, except for time in which the employee is involved in activities related to an approved computerized course of study;

(C) bonus pay received as compensation related to the company's financial performance or the employee's job performance, or both;

(D) overtime pay, unless the employee is being paid at an overtime rate while participating in eligible training;

(E) operations manuals and reference manuals. However, training-specific manuals shall be allowable; and

(F) training and education costs covered by monies or grants obtained from state, federal, or other government-sponsored workforce training programs.

(kk) "Wage standard" means the average wage information developed for the department for the appropriate NAICS designation using all worksites located within a geographical area as defined by the secretary that are required to provide the Kansas department of labor with a "quarterly wage report and unemployment tax return" or a "multiple worksite report."

(ll) "Worksite" has the same meaning as that specified for "qualified business facility" in K.S.A. 79-32,154, and amendments thereto. (Authorized by and implementing K.S.A. 2012 Supp. 74-50,131; effective Sept. 13, 2013.)

110-6-9. Application. (a) After the measurement period for a worksite has been established, the applicant may submit an application to the department for certification of the worksite, on a form prescribed by the secretary, together with all supplemental forms and documentation necessary to demonstrate satisfaction of the program requirements. Sufficiency of all submitted documentation shall be determined by the secretary, who may request additional information. A worksite shall not be certified until all program requirements are satisfied.

(b) Certification of the worksite in which the applicant is planning to make a qualified business facility investment, as defined by K.S.A. 79-32,154(e) and amendments thereto, shall be contingent on documentation submitted by the applicant to the department that the worksite has met all statutory criteria during the measurement period, except as specified in K.A.R. 110-6-12(b). However, a determination may be made by the secretary that it is in the best economic interests of the state to allow initial certification or recertification based on a promise of future performance, rather than historical accomplishments, if certification is deemed justified by the magnitude of potential job creation and investment and by other considerations deemed appropriate by the secretary. (Authorized by and implementing K.S.A. 2012 Supp. 74-50,131; effective Sept. 13, 2013.)

110-6-10. Certification of a worksite. Each applicant shall meet the following requirements:

(a) (1) The NAICS designation assigned to the worksite shall be under an appropriate NAICS designation, as specified in K.S.A. 74-50,131 and amendments thereto;

(2) the worksite, regardless of its NAICS designation, shall be determined by the secretary to be a headquarters or back-office operation of a national firm or multinational firm pursuant to this article; or

(3) the worksite, regardless of its NAICS designation, had been certified as a headquarters or back-office operation of a national firm or multinational firm by the secretary before the effective date of this regulation. The worksite shall retain its certification as a headquarters or back-office operation of a national firm or multinational firm unless the worksite would no longer qualify using the criteria in effect for the original worksite certification.

(b) Before any formal commitment to invest, the applicant shall demonstrate knowledge of the HPIP program by submitting a certificate of intent to invest, on the PD form prescribed by the secretary. The worksite information provided on the PD form shall include the following:

(1) Estimated investment amounts;

(2) a projected starting date;

(3) information regarding current and anticipated net new job creation and retention with associated payroll levels;

(4) revenue and sales projections; and

(5) any other relevant information if requested by the secretary.

(c) Certification of a worksite for the sole purpose of utilizing an HPIP tax credit that has been carried forward shall not require the submission of an additional project description form and may be applied for with a sworn statement using a form prescribed by the department.

(d) If the main activity at a worksite is not related to the headquarters or back-office operation but all other program requirements are satisfied, the applicant may seek certification only for that portion of the worksite's area that houses the headquarters or back-office operation of that worksite if the company's accounting system has the capability to allow a segment of the worksite to independently track the various elements that support satisfaction of HPIP requirements.

HPIP benefits shall be calculated by determining the portion of a qualified business facility investment used solely for that portion of the worksite housing the headquarters or back-office operation.

(e) After meeting all HPIP requirements, the worksite shall be certified by the secretary to the department of

revenue. Before a worksite may be certified, all records used to support HPIP certification shall be subject to verification by the department. (Authorized by and implementing K.S.A. 2012 Supp. 74-50,131; effective Sept. 13, 2013.)

110-6-11. Certification period (CP). (a) After establishing the measurement period at the worksite, the applicant shall establish a certification period as follows:

(1) For a worksite that has been fully operational for at least four calendar quarters, a 12-month certification period shall begin, at the option of the applicant, on any date during the calendar quarter following the end of the MP.

(2) For a new worksite with a new workforce, the certification period shall begin at the onset of the eligible qualified capital investment to establish this worksite and shall continue for 12 months after the end of the MP. There may be two exceptions as follows:

(A) If, at the commencement of full operations, the new worksite is staffed with a workforce comprised of at least 85 percent of employees who have been relocated from other Kansas worksites of the company and if compliance with all other HPIP requirements is documented to the satisfaction of the secretary for the four calendar quarters immediately preceding the start of full operations, the applicant shall have the option to use the four calendar quarters before the start of full operations at the new location as its measurement period with a certification period starting at the onset of qualified capital investment to establish this new worksite. The certification period shall continue through the first four quarters of operations.

(B) A firm that is relocating from outside of Kansas shall have the option to use the four previous quarters before the start of full operations at the new worksite as its measurement period with a certification period starting at the onset of eligible capital investment to establish this new worksite and shall continue through the first four quarters of operations, if all of the following conditions are met:

(i) The new worksite is not subject to the HPIP sourceof-revenue requirement and is using participation in KIT or KIR to satisfy the HPIP training requirement.

(ii) At the commencement of full operations, the new worksite is staffed with a workforce comprised of at least 85 percent of employees who have been relocated from non-Kansas facilities of the firm or from a combination of Kansas and non-Kansas facilities.

(iii) Wage costs for those relocated employees are documented to the satisfaction of the secretary for the four calendar quarters immediately preceding the start of full operations.

(b) If a company chooses to combine worksites for HPIP certification, then each worksite shall establish as its measurement period four combined calendar quarters of operations that do not overlap any other measurement period for any participating worksites. Certification shall begin on any date of the applicant's choosing during the quarter that follows the end of the measurement period and shall extend for a 12-month period.

(c) If worksites are combined in a single application to receive aggregate HPIP certification, then the applicable

set of requirements shall consist of the most restrictive requirement for any of the individual worksites that are participating in the combined application, according to the following requirements:

(1) If any individual participating worksite is subject to the HPIP source-of-revenue requirement, then the combined worksite application as a whole shall be subject to the HPIP source-of-revenue requirement.

(2) If participating worksites come from more than one HPIP wage region, then the highest wage threshold from those wage regions shall apply for the participating worksites.

(3) If a headquarters or back-office operation is not required to satisfy the HPIP source-of-revenue requirement while another worksite is so required, then each participating worksite shall be required to satisfy this requirement.

(4) If worksites in the same wage area fall into different size categories, the most restrictive wage standard shall apply to each of the combined worksites.

(5) If each of the combined worksites has 500 or fewer employees but in aggregate the number of employees is greater than 500, then the higher wage threshold shall apply.

(d) Certification of a worksite for the sole purpose of obtaining training and education tax credits or a sales tax exemption certificate shall be allowed if both of the following conditions are met:

(1) All other program requirements are satisfied.

(2) The applicant demonstrates prior knowledge of the program by submitting the project description form. This form shall be received by the department before the start of the certification period. (Authorized by and implementing K.S.A. 2012 Supp. 74-50,115 and K.S.A. 2012 Supp. 74-50,131; effective Sept. 13, 2013.)

110-6-12. Training and education requirement. After a worksite has met the requirements of K.A.R. 110-6-10, that worksite shall meet the requirements of subsection (a) or (b) before the applicant obtains certification of the worksite:

(a) The applicant shall participate in a KIT or KIR workforce training project at the worksite to enhance employee skills. If this method is to be utilized in satisfaction of the HPIP training and education requirement, the timing of the project shall be one of the following:

(1) If a KIT or KIR project terminates during the applicant's chosen measurement period, at least three months of the training project shall have occurred during the measurement period.

(2) A KIT or KIR project of at least three months in duration commences any time during the applicant's chosen measurement period or during the following calendar quarter but shall not commence after the start of the certification period except as provided by K.A.R. 110-6-11(a)(2).

(b) The applicant shall make a cash investment of at least two percent of its total payroll costs at the worksite in eligible training and education expenses during the measurement period, except that costs incurred to train employees needed to staff a start-up worksite, before op-(continued)

Kansas Register <u></u>

Regulations

erations begin at the worksite, shall be counted as part of training costs during the first four quarters of operations for those employees who have been hired into permanent positions before the start of operations. Prepayment for training may be counted in a measurement period apportioned according to the extent that the related training has been completed during the measurement period. (Authorized by and implementing K.S.A. 2012 Supp. 74-50,131; effective Sept. 13, 2013.)

Pat George Secretary of Commerce

Doc. No. 041846

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3281. "10X Mega Money" instant ticket lottery game number 492. (a) The Kansas lottery may conduct an instant winner lottery game entitled "10X Mega Money." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3281.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play/Prize Symbols	Captions			
1	ÔNE			
2	TWO			
3	THREE			
4	FOUR			
6	SIX			
7	SEVEN			
8	EIGHT			
9	NINE			
10	TEN			
11	ELEVN			
12	TWELV			
13	THRTN			
14	FORTN			
16	SIXTN			
17	SEVTN			
18	EGHTN			
19	NINTN			
20	TWENTY			
21	TWONE			
22	TWTWO			
23	TWTHR			
24	TWFOR			
26	TWSIX			
27	TWSEV			
28	TWEGT			
29	TWNIN			
30	THRTY			
31	THONE			
32	THTWO			
33	THTHR			
34	THFOR			
36	THSIX			
37	THSEV			
38	THEGT			

39	THNIN
40	FORTY
41	FRONE
42	FRTWO
43	FRTHR
44	FRFOR
45	FRFIV
2X	WIN2X
5X	WIN5X
10X	WIN10X
Symbol of a starburst	WIN\$100
Play/Prize Symbols	Captions
FREE	\$20TICKET
\$5.00	FIVE\$
\$10. ⁰⁰	TEN\$
•	TEN\$ TWENTY
\$10.00	
\$10. ⁰⁰ \$20. ⁰⁰	TWENTY
\$10.00 \$20.00 \$30.00	TWENTY THIRTY
\$10.00 \$20.00 \$30.00 \$40.00	TWENTY THIRTY FORTY
\$10.00 \$20.00 \$30.00 \$40.00 \$50.00	TWENTY THIRTY FORTY FIFTY
\$10.00 \$20.00 \$30.00 \$40.00 \$50.00 \$75.00	TWENTY THIRTY FORTY FIFTY SEV-FIV
\$10.00 \$20.00 \$30.00 \$40.00 \$50.00 \$75.00 \$100	TWENTY THIRTY FORTY FIFTY SEV-FIV HUNDRED
\$10.00 \$20.00 \$30.00 \$40.00 \$50.00 \$75.00 \$100 \$200	TWENTY THIRTY FORTY FIFTY SEV-FIV HUNDRED TWO HUN

(c) For this game, a play/prize symbol shall appear in 65 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) In "10X Mega Money," the player will scratch the game play area to reveal 30 "YOUR NUMBERS" with a prize amount shown below each number, and five "WIN-NING NUMBERS." If any of the "YOUR NUMBERS" match any of the "WINNING NUMBERS," the player wins the prize shown for that number. If a "2X" symbol is revealed, the player wins double the prize shown for that amount. If a "STARBURST" symbol is revealed, the player wins five times the prize shown for that symbol. If a "10X" symbol is revealed, the player wins the prize shown for that symbol. If a "10X" symbol is revealed, the player wins five times the prize shown for that symbol.

(g) Each ticket in this game may win up to 30 times.

(h) Approximately 315,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 315,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$20 Ticket	Free Ticket	21,000	\$0
\$20	\$20	10,500	210,000
(\$5 x 4)	\$20	10,500	210,000
\$10 + (\$5 x 2)	\$20	10,500	210,000
\$10 (2X)	\$20	10,500	210,000
\$5 (2X) + \$10	\$20	5,250	105,000
\$30	\$30	1,000	30,000

Regulations			Kansas	Register
$\begin{array}{c} \$20 + \$10 \\ (\$5 \ (2X) \times 3) \\ (\$5 \times 6) \\ \$40 \\ (\$5 \times 6) + \$10 \\ \$10 \ (2X) + (\$10 \times 2) \\ \$5 \ (5X) + \$5 + \$10 \\ \$50 \\ \$20 \ (2X) + \$10 \\ (\$10 \times 3) + (\$5 \ (2X) \times 2) \\ (\$20 \times 2) + \$10 \\ \$5 \ (10X) \\ \$75 \\ \$10 \ (5X) + (\$10 \times 2) + \$5 \\ \$100 \\ \$100 \ (BURST) \\ \$200 \\ (\$10 \times 20) \\ (\$100 \ (BURST) \times 2) \\ \$500 \\ \$50 \ (5X) + (\$10 \times 5) + \\ (\$10 \times 20) \\ \end{array}$	\$30 \$30 \$40 \$40 \$40 \$50 \$50 \$50 \$50 \$50 \$50 \$50 \$75 \$75 \$75 \$75 \$75 \$100 \$100 \$200 \$200 \$200 \$500	$\begin{array}{c} 4,000\\ 11,000\\ 5,000\\ 1,000\\ 3,000\\ 4,400\\ 2,100\\ 500\\ 2,000\\ 3,150\\ 2,000\\ 1,050\\ 500\\ 1,050\\ 500\\ 1,400\\ 1,250\\ 500\\ 1,600\\ 100\\ 950\\ 525\\ 100\\ 425\end{array}$	Kansas 120,000 330,000 150,000 40,000 120,000 176,000 84,000 25,000 100,000 157,500 100,000 52,500 37,500 105,000 93,750 50,000 105,000 105,000 20,000 105,000 20,000 212,500	Syml Symbo Symbol Symbol Symbol
(\$100 (BURST) x 3) + (\$20 x 10) (\$10 x 20) + (\$30 x 10) \$1,000 \$100 (5X) + (\$50 (2X) x 4) + \$100 (BURST) \$100,000 TOTAL	\$500 \$500 \$1,000 \$1,000 \$100,000	$210 \\ 525 \\ 5 \\ 20 \\ 3 \\ 116,563 \\ 116,563 \\ 10 \\ 10 \\ 10 \\ 10 \\ 10 \\ 10 \\ 10 \\ 1$	$ \begin{array}{r} 105,000 \\ 262,500 \\ 5,000 \\ \hline 20,000 \\ \underline{300,000} \\ \$4,146,250 \\ \end{array} $	Symbol Symbol Symbol Symbol of Symbol o Symbol o Symbol o
STARBURST - denotes sta	arburst symbo	J		Play/P

STARBURST - denotes starburst symbol

(j) The odds of winning a prize in this game are approximately one in 2.70. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-15-13, July 17, 2013.)

111-4-3282. "Cash Blowout" instant ticket lottery game number 493. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Cash Blowout." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3282.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play/Prize Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN

19	NINTN
20	TWENTY
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
Symbol of a star	WIN5X
Symbol of a banana	BANANA
Symbol of a pineapple	PINEAPL
Symbol of a pumpkin	PUMPKN
Symbol of an apple	APPLE
Symbol of a strawberry	STRWBRY
Symbol of a pear	PEAR
Symbol of a bunch of grapes	GRAPES
Symbol of a watermelon	WTRMLN
Symbol of a stack of bills	WIN5X
Symbol of a coin	WIN2X
Play/Prize Symbols	Captions
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$40.00	FORTY
\$50.00	FIFTY
\$100	HUNDRED
\$500	FIV-HUN
\$1,000	ONE-THO
\$100,000	HUNTHO
•	

(c) For this game, a play/prize symbol shall appear in 57 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) The "Cash Blowout" game consists of three games. Game 1 contains four "SPINS," each containing three game symbols and one prize amount. If the player reveals three identical symbols in any one "SPIN," the player wins the prize shown for that "SPIN." If a "STACK OF BILLS" symbol is revealed, the player wins five times the prize shown for that "SPIN."

Game 2 contains 16 "YOUR NUMBERS," each of which is associated with a prize amount, and three "WINNING NUMBERS." If the player matches any of the "YOUR NUMBERS" with any of the "WINNING NUMBERS," the player wins the prize amount shown for that number. If a "STAR" symbol is revealed, the player wins five times the prize shown for that number.

Game 3 contains six prize amounts. If three matching amounts are revealed, the player wins that amount. If two (continued) matching amounts plus a "COIN" symbol are revealed, the player wins double that amount.

(g) Each ticket in this game may win up to 21 times.

(h) Approximately 315,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 315,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

				Expected Number of	Expected Value
Game 1	Game 2	Game 3	Prize	Prizes in Game	in Game
\$20 or	\$20 or	\$20 or	\$20	5,250	\$105,000
	\$10	\$10	\$20	4,200	84,000
(\$5 x 2)		\$10	\$20	4,200	84,000
	\$10	\$5 (DBL)	\$20	6,300	126,000
\$10	\$5	\$5	\$20	5,250	105,000
\$40 or	\$40 or	\$40	\$40	2,100	84,000
\$5 (5X)	\$5	\$5 (DBL)	\$40	5,250	210,000
	(\$10 x 4)		\$40	4,200	168,000
\$10	\$10	\$10 (DBL)	\$40	3,150	126,000
\$10	\$5 (5X)	\$5	\$40	2,100	84,000
\$50 or	\$50 or	\$50	\$50	6,300	315,000
(\$5 x 3)	\$5 (5X)	\$10	\$50	4,200	210,000
	(\$5 x 2) + (\$10 x 2)	\$10 (DBL)	\$50	8,400	420,000
\$10 (5X)			\$50	6,300	315,000
\$5	(\$10 x 4)	\$5	\$50	4,200	210,000
(\$5 x 2) + \$10	(\$5 x 2) + \$10	\$10	\$50	2,100	105,000
\$100 or	\$100 or	\$100	\$100	1,050	105,000
\$50	\$10	\$20 (DBL)	\$100	1,050	105,000
(\$20 x 2)	(\$10 x 2) + \$20	\$20	\$100	1,050	105,000
\$5 (\$5X) + \$10	(\$20 x 3)	\$5	\$100	1,050	105,000
	\$20 (5X)		\$100	1,050	105,000
(\$20 x 2)	(\$20 x 2)	\$20	\$100	210	21,000
\$500 or	\$500 or	\$500	\$500	210	105,000
(\$50 x 4)	\$20 (5X) + \$100	\$100	\$500	210	105,000
\$50 (5X)	(\$100 x 2) + \$10	\$20 (DBL)	\$500	210	105,000
\$50 + \$10 + \$10 + \$10	(\$20 x 16)	\$100	\$500	210	105,000
\$1,000 or	\$1,000 or	\$1,000	\$1,000	210	210,000
	(\$50 x 16)	\$100 (DBL)	\$1,000	210	210,000
\$100 (5X)	$(\$100 \times 3) + (\$50 \times 3)$	\$50	\$1,000	3	3,000
\$100	$500 + 100 + (50 \times 4)$	\$100	\$1,000	3	3,000
\$500	\$500		\$1,000	3	3,000
\$100,000 or	\$100,000 or	\$100,000	\$100,000	3	300,000
TOTAL				80,232	\$4,446,000
DBL - denotes doubler sym	bol (WIN2X)				

DBL - denotes doubler symbol (WIN2X)

(j) The odds of winning a prize in this game are approximately one in 3.93. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-15-13, July 17, 2013.)

111-4-3283. "Box Car Doubler" instant ticket lottery game number 494. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Box Car Doubler." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3283.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play/Prize Symbols	Captions
Symbol of a dice with one dot	ONE
Symbol of a dice with two dots	TWO
Symbol of a dice with three dots	THREE
Symbol of a dice with four dots	FOUR

Symbol of a dice with five dots	FIVE
Symbol of a dice with six dots	SIX

5	
Play/Prize Symbols	Captions
FREE	TICKET
\$2. ⁰⁰	TWO\$
\$4. ⁰⁰	FOUR\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$15.00	FIFTN\$
\$30.00	THIRTY
\$50.00	FIFTY
\$100	HUNDRED
\$1,000	ONE-THO
\$10,000	TENTHO

(c) For this game, a play/prize symbol shall appear in 36 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) In "Box Car Doubler," the player will scratch the game play area to reveal 12 "ROLLS," each containing one "YOUR DICE" symbol, one "THEIR DICE" symbol, and one prize amount. If the player's "YOUR DICE" symbol reveals more dots than "THEIR DICE" symbol in any "ROLL" across, the player wins the prize amount shown for that "ROLL." If the player reveals "BOX CARS" (one "YOUR DICE" symbol with six dots and one "THEIR DICE" symbol with six dots) in any "ROLL" across, the player wins double the prize shown for that "ROLL."

(g) Each ticket in this game may win up to 12 times.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected Value
	Prize	Prizes in Game	in Game
Free \$2 Ticket	Free Ticket	82,500	\$0
\$2	\$2	56,250	112,500
(\$2 x 2)	\$4	18,000	72,000
\$2 DBĹ	\$4	9,000	36,000
\$4	\$4	7,500	30,000
\$5	\$5	7,500	37,500
\$2 + \$4 DBL	\$10	7,200	72,000
(\$5 x 2)	\$10	6,000	60,000
\$5 DBL	\$10	4,800	48,000
\$10	\$10	4,800	48,000
(\$2 x 3) + \$4 + \$5	\$15	6,000	90,000
\$2 + \$4 DBL + \$5	\$15	3,600	54,000
\$5 + \$5 DBL	\$15	3,600	54,000
\$15	\$15	3,750	56,250
(\$2 x 10) + (\$5 x 2)	\$30	1,800	54,000
(\$5 DBL x 3)	\$30	1,800	54,000
\$5 DBL + \$10 DBL	\$30	1,500	45,000
\$30	\$30	150	4,500
(\$2 x 5) + (\$5 x 6) + \$10) \$50	300	15,000
(\$5 DBL x 5)	\$50	150	7,500
(\$10 x 2) + \$30	\$50	75	3,750
\$50	\$50	75	3,750
(\$5 x 8) + (\$15 x 4)	\$100	12	1,200
\$50 DBL	\$100	12	1,200
\$100	\$100	12	1,200
(\$100 DBL x 5)	\$1,000	6	6,000
\$1,000	\$1,000	3	3,000
\$10,000	\$10,000	4	40,000
TOTAL		226,399	\$1,010,350

(j) The odds of winning a prize in this game are approximately one in 3.98. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-15-13, July 17, 2013.)

111-4-3284. "Bah Humbucks" instant ticket lottery game number 495. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Bah Humbucks." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3284. (b) The "play and prize symbols" and "captions" for this game are as follows:

game are as follows.	
Play/Prize Symbols	Captions
1	ONE
2	TWO
2 3 4	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
\$\$	DBLR
Play/Prize Symbols	Captions
FREE	\$1 TICKET
\$1. ⁰⁰	ONE\$
\$2. ⁰⁰	TWO\$
\$3. ⁰⁰	THREE\$
\$5. ⁰⁰	FIVE\$
\$7. ⁰⁰	SEVEN\$
\$10. ⁰⁰	TEN\$
\$15. ⁰⁰	FIFTN\$
\$20. ⁰⁰	TWENTY
\$40.00	FORTY
\$100	HUNDRED
\$250	TWO-FTY
\$2,500	TFV-HUN

(c) For this game, a play/prize symbol shall appear in 11 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) In "Bah Humbucks," the player will scratch the game play area to reveal five "YOUR NUMBERS," each with an associated prize amount, and one "WINNING NUMBER." If any of the "YOUR NUMBERS" match the "WINNING NUMBER," the player wins the prize shown below that matching number. If a "\$\$" symbol is revealed, the player wins double the prize shown.

(g) Each ticket in this game may win up to five times.

(h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$1 Ticket	Free Ticket	120,000	\$0
\$1	\$1	88,000	88,000
\$2	\$2	40,000	80,000
			(continued)

\$3	\$3	2,000	6,000
\$1 (DBL) + \$1	\$3	6,000	18,000
\$5	\$5	2,000	10,000
\$3 + \$2	\$5	6,000	30,000
\$2 (DBL) + \$1	\$5	8,000	40,000
\$7	\$7	2,000	14,000
\$2 (DBL) + (\$1 x 3)	\$7	6,000	42,000
\$10	\$10	1,000	10,000
\$5 (DBL)	\$10	3,650	36,500
\$15	\$15	400	6,000
(\$5 x 3)	\$15	1,000	15,000
(\$1 x 3) + \$2 + \$5 (DBL)	\$15	3,000	45,000
\$20	\$20	400	8,000
(\$5 x 4)	\$20	1,800	36,000
\$10 (DBL)	\$20	1,800	36,000
\$40	\$40	100	4,000
\$20 (DBL)	\$40	500	20,000
\$15 (DBL) + (\$5 x 2)	\$40	750	30,000
\$100	\$100	50	5,000
(\$10 (DBL) x 4) + \$20	\$100	150	15,000
\$40 (DBL) + (\$5 x 4)	\$100	125	12,500
\$250	\$250	10	2,500
(\$100 x 2) + \$20 (DBL)			
+ \$10	\$250	40	10,000
\$2,500	\$2,500	5	12,500
TOTAL		294,780	\$632,000
			<u></u>

(j) The odds of winning a prize in this game are approximately one in 4.07. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-15-13, July 17, 2013.)

111-4-3285. "Cash Celebration" instant ticket lottery game number 496. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Cash Celebration." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3285.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Captions

ONE

TWO

THREE

FOUR

FIVE

SIX

SEVEN

EIGHT

NINE

TEN ELEVN

TWELV

THRTN

FORTN

FIFTN

DBLR

Captions

\$1 TICKET

ONE\$

TWO\$

FOUR\$

FIVE\$

TEN\$

Play/Prize Symbols

1

2

3

4

5

6

7

8

9

10

11 12

13

14

15

2X

Play/Prize Symbols

FREE

\$1.00

\$2.00

\$4.00

\$5.00

\$10.00

Regula	tions
--------	-------

\$20.00	TWENTY
\$50.00	FIFTY
\$100	HUNDRED
\$250	TWO-FTY
\$1,000	ONE-THO

(c) For this game, a play/prize symbol shall appear in 11 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) In "Cash Celebration," the player will scratch the game play area to reveal five "YOUR NUMBERS," each with an associated prize amount, and one "WINNING NUMBER." If any of the "YOUR NUMBERS" match the "WINNING NUMBER," the player wins the prize shown below that matching number. If a "2X" symbol is revealed, the player wins double the prize shown.

(g) Each ticket in this game may win up to five times.

(h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$1 Ticket	Free Ticket	240,000	\$0
\$1	\$1	160,000	160,000
\$2	\$2	80,000	160,000
\$ 4	\$ - \$4	12,000	48,000
\$2 (DBL)	\$4	16,000	64,000
\$5	\$5	8,000	40,000
(\$1 x 5)	\$5	8,000	40,000
$(\$2 \times 2) + \1	\$5	8,000	40,000
\$1 + \$2 (DBL)	\$5	8,000	40,000
\$10	\$10	6,000	60,000
(\$2 x 5)	\$10	6,000	60,000
\$5 (DBL)	\$10	6,000	60,000
(\$5 x 3)	\$15	2,000	30,000
(\$1 x 3) + \$2 + \$10	\$15	2,000	30,000
\$20	\$20	2,000	40,000
(\$5 x 4)	\$20	2,000	40,000
\$10 (DBL)	\$20	4,000	80,000
\$50	\$50	1,000	50,000
(\$10 x 5)	\$50	1,000	50,000
\$20 (DBL) + \$10	\$50	1,500	75,000
\$100	\$100	100	10,000
(\$20 x 5)	\$100	200	20,000
\$50 (DBL)	\$100	200	20,000
\$250	\$250	50	12,500
\$100 (DBL) + (\$20 x 2)			
+ \$10	\$250	50	12,500
\$1,000	\$1,000	32	32,000
TOTAL		574,132	\$1,274,000

(j) The odds of winning a prize in this game are approximately one in 4.18. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-8-15-13, July 17, 2013.)

Kansas Register _

111-9-188. "Car Classics" pull tab ticket lottery game number 555. (a) The Kansas lottery may conduct a pull tab lottery game entitled "Car Classics." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-188.

(b) The price of pull tab tickets sold by a retailer for this game shall be \$2.00 each.

(c) Approximately 600,000 tickets shall be ordered initially for this pull tab game that shall be packaged in packs of 150 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 149. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order. (d) The play symbols for this game are as follows:

Symbol of a key Symbol of a gear shift Symbol of a gas jug Symbol of a tire Symbol of a truck Symbol of a truck Symbol of a car Symbol of a trophy

(e) For this game, three play symbols shall appear under each of eight tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three key symbols equal \$2.00; three gear shift symbols equal \$5.00; three gas jug symbols equal \$10.00; three tire symbols equal \$25.00; three race flag symbols equal \$50.00; three truck symbols equal \$100.00; three car symbols equal \$250.00; three trophy symbols equal \$2,500.00.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (e) above. All winning combinations shall be within a single window in a horizontal line.

(g) The number and value of prizes in this game and winning combinations shall be as follows: (See corresponding play symbol values in subsection (e) above.)

Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
\$2	\$2	82,000	\$164,000
\$2 + \$2	\$4	28,120	112,480
\$5	\$5	26,000	130,000
\$5 + \$2	\$7	16,000	112,000
\$10	\$10	4,000	40,000
\$5 + \$5	\$10	4,000	40,000
\$25	\$25	1,000	25,000
\$5 + \$10 + \$10	\$25	1,100	27,500
\$5 + \$5 + \$5 + \$5 + \$5 \$2 + \$2 + \$2 + \$2 + \$2 +	\$25	1,200	30,000
\$5 + \$10 \$5 + \$5 + \$5 + \$5 + \$5 +	\$25	1,200	30,000
\$10	\$35	500	17,500
\$5 + \$10 + \$10 + \$10	\$35	500	17,500
\$50	\$50	250	12,500

\$5 + \$5 + \$5 + \$5 + \$5	+		
\$5 + \$10 + \$10	\$50	250	12,500
\$100	\$100	100	10,000
\$250	\$250	40	10,000
\$2,500	\$2,500	10	25,000
TOTAL		166,270	\$815,980

(h) Each ticket in this game may have up to eight winning combinations.

(i) The overall odds of winning a prize in this game are approximately one in 3.61. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-15-13, July 17, 2013.)

111-9-189. "Money Sharks" pull tab ticket lottery game number 557. (a) The Kansas lottery may conduct a pull tab lottery game entitled "Money Sharks." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-189.

(b) The price of pull tab tickets sold by a retailer for this game shall be \$2.00 each.

(c) Approximately 600,000 tickets shall be ordered initially for this pull tab game that shall be packaged in packs of 150 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 149. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(d) The play symbols for this game are as follows:

Symbol of a spade Symbol of a fin Symbol of a card dealer Symbol of a stack of bills Symbol of a shark Symbol of a poker table Symbol of playing cards Symbol of a fish

(e) For this game, three play symbols shall appear under each of eight tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three spade symbols equal \$2.00; three fin symbols equal \$5.00; three card dealer symbols equal \$10.00; three stack of bills symbols equal \$25.00; three shark symbols equal \$50.00; three poker table symbols equal \$250.00; three fin symbols equal \$250.00; three fish symbols equal \$2,500.00.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (e) above. All winning combinations shall be within a single window in a horizontal line.

(g) The number and value of prizes in this game and winning combinations shall be as follows: (See corresponding play symbol values in subsection (e) above.)

_		Expected Number of	Expected Value
Get	Prizes	Prizes in Game	in Game
\$2	\$2	82,000	\$164,000
\$2 + \$2	\$4	28,120	112,480
			(continued)

Regulati	ons
----------	-----

¢E	¢۶	2(000	120.000
\$5	\$5	26,000	130,000
\$5 + \$2	\$7	16,000	112,000
\$10	\$10	4,000	40,000
\$5 + \$5	\$10	4,000	40,000
\$25	\$25	1,000	25,000
\$5 + \$10 + \$10	\$25	1,100	27,500
\$5 + \$5 + \$5 + \$5 + \$5	\$25	1,200	30,000
\$2 + \$2 + \$2 + \$2 + \$2 +			
\$5 + \$10	\$25	1,200	30,000
\$5 + \$5 + \$5 + \$5 + \$5 +			
\$10	\$35	500	17,500
\$5 + \$10 + \$10 + \$10	\$35	500	17,500
\$50	\$50	250	12,500
\$5 + \$5 + \$5 + \$5 + \$5 +			
\$5 + \$10 + \$10	\$50	250	12,500
\$100	\$100	100	10,000
\$250	\$250	40	10,000
\$2,500	\$2,500	10	25,000
TOTAL		166,270	\$815,980
			1

(h) Each ticket in this game may have up to eight winning combinations.

(i) The overall odds of winning a prize in this game are approximately one in 3.61. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-15-13, July 17, 2013.)

Article 17.—SPECIFIC ONLINE DRAWING RULES

111-17-9. Ultimate Chiefs experience secondchance drawing. (a) The Kansas lottery shall conduct a second-chance online event drawing entitled "Ultimate Chiefs Experience Second-Chance Drawing." The Kansas lottery will accept online entries into the drawing beginning at midnight July 31, 2013, and ending at noon on February 5, 2014. The drawing will be announced with at least 24 hours advanced notice via the lottery's website, and other social media forums such as Facebook and Twitter. The drawing will be conducted sometime after entry into the drawing has closed, but before noon on February 7, 2014.

(b) The specific ticket eligible for entry into this secondchance online event drawing shall be the \$5 Kansas City Chiefs, game number 491.

(c) The Kansas lottery shall award five grand prize packages to players who entered the "Ultimate Chiefs Experience Second-Chance Drawing" using the \$5 Kansas lottery instant ticket named Kansas City Chiefs, game number 491. Each prize package shall consist of access to a 2014-2015 Kansas City Chiefs season suite for one winner and three guests for one game, and unlimited food and non-alcoholic beverages. Each suite guest will receive a gift bag with a \$25 stadium gift card, a Chiefs cheerleader calendar, a Chiefs hat, a Chiefs 2014 yearbook, and other lottery/Chiefs products possible. A drawing in the suite will be held for attending winners and their guests to win autographed merchandise. Each grand prize is valued at approximately \$9,514.29.

(d) There will be one drawing held to select winners of the grand prizes. The drawing shall select 25 entrants. The first five entrants drawn in this drawing shall be awarded a grand prize identified in subsection (c). The next 20 entrants drawn in this drawing (identified as numbers 6 through 25) will be used as alternate winners, if necessary, in the order drawn.

(e) A winner of a grand prize shall be notified via email that he or she has won a prize. The winner shall be instructed how to verify his or her personal identification.

(f) A winner shall be sent a claim form via U.S. mail at the time the winner is notified he or she has won a prize.

(g) A player who is among the first five winners selected in this drawing to receive a grand prize must return his or her completed claim form, and original nonwinning ticket entered into the online event drawing and must be received by the Kansas lottery within 30 days following the date of the online event drawing. Alternatively, a player who is among the entrants selected as alternate winners in this drawing to receive a grand prize and as identified in subsection (d) must return his or her completed claim form, and original non-winning ticket entered into the online event drawing within 30 days following the date the alternate winner was sent a claim form via U. S. mail.

(h) Completed claim forms and non-winning ticket(s) can be mailed by the winners via U.S. Mail to: Kansas lottery, 128 North Kansas Avenue, Topeka, Kansas 66603, or the winners can deliver the completed claim form and non-winning ticket by hand to the Kansas lottery claims center in Topeka, Kansas.

(i) If a player fails to answer any email, respond to any request for information, or fill out any forms required by the Kansas lottery within the time allotted in the winner's notification of winning a grand prize, said win shall be forfeited and the prize awarded to another alternate winner.

(j) Each person who enters a lottery Kansas City Chiefs ticket, game number 491, agrees to release Kansas City Chiefs Football Club, Inc., its parent and affiliated companies, the Kansas lottery and their respective officers, directors, employees, agents, and sponsors from liability of any kind or nature for any loss, claims, damages, or injuries of any kind associated with participation in the drawing or with acceptance and use of any prize.

(k) In the event any football game in the grand prize package awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided.

(l) Any player entering the Ultimate Chiefs Experience Second-Chance Drawing agrees to public disclosure.

(m) The Kansas lottery reserves the right to substitute prizes at its sole and total discretion of approximate equal value.

(n) Rules applicable to this online event drawing are contained in K.A.R. 111-17-9 and K.A.R. 111-16-1 *et seq.* (Authorized by K.S.A. 2012 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2012 Supp. 74-8710; effective, T-111-8-15-13, July 17, 2013.)

Dennis Taylor Executive Director

1061

State of Kansas Governmental Ethics Commission

Opinion No. 2013-03

Written August 21, 2013, to Dale E. Pike, Dighton City Attorney, Dighton.

Synopsis: Under the facts presented, a local governmental official or employee, in such capacity, may not make or participate in making a contract with a business which either employs them or in which they have a substantial interest.

Cited herein: K.S.A. 75-4301a and K.S.A. 75-4304.

Dear Mr. Pike:

This opinion is in response to your request for an opinion from the Kansas Governmental Ethics Commission (Commission), concerning application of the local conflict of interest law, K.S.A. 75-4301a et seq. We note at the outset that the Commission's jurisdiction is limited to the applicability of K.S.A. 46-215 et seq. and K.S.A. 75-4301a et seq. Thus, the Commission's opinion does not address whether some other statutory system, common law theory, or agency rule or regulation applies to your inquiry.

Factual Statement

We understand that you request this opinion in your capacity as attorney for the City of Dighton, Kansas. In support of your inquiry, the following facts are provided:

- 1. The City of Dighton and Lane County have joined forces to build a building that will house a pharmacy.
- 2. It has been necessary to raise some funds through a lease-option to purchase agreement and these municipalities originally considered entering into a lease-option to purchase from the local R.E.A. and that is still a possibility but there are numerous strings and a large quantity of red tape to do that.
- 3. In the City of Dighton there exists a for-profit LLC that has the goal of enhancing economic development and constructing spec homes to ease the housing shortage we have in Western Kansas.
- 4. The city council would like to consider entering into the lease purchase agreement with that LLC to obtain the funds at 4% to be paid back over a five year period.
- 5. One of the city councilmen is also a member of the LLC.

Question

Is this a prohibited contract or could the City consider entering into the Contract if that councilman abstains from taking part in the voting on this issue?

Analysis and Opinion

Assuming the city councilmen's membership in the "LLC" meets one or more of the K.S.A. 75-4301a(a) definitions of substantial interest, K.S.A. 75-4304 is the only statute under our jurisdiction that applies to your question.

75-4304. Same; making or participating in certain contracts prohibited; exceptions; abstaining from action. (a) No local governmental officer or employee shall, in the capacity of such an officer or employee, make or partici-

pate in the making of a contract with any person or business by which the officer or employee is employed or in whose business the officer or employee has a substantial interest.

(b) No person or business shall enter into any contract where any local governmental officer or employee, acting in that capacity, is a signatory to or a participant in the making of the contract and is employed by or has a substantial interest in the person or business.

(c) A local governmental officer or employee does not make or participate in the making of a contract if the officer or employee abstains from any action in regard to the contract.

(d) This section shall not apply to the following:

(1) Contracts let after competitive bidding has been advertised for by published notice; and

(2) contracts for property or services for which the price or rate is fixed by law.

(e) Any local governmental officer or employee who is convicted of violating this section shall forfeit the office or employment.

Nothing in K.S.A. 75-4304 would prohibit the city from entering into a contract with the LLC. However, as a local governmental officer, the city councilman that has a membership in the LLC, and presumably a substantial interest as defined by 75-4301a(a), would violate K.S.A. 75-4304(a) by making or participating in the making of a contract with the LLC in his capacity as a local governmental official. It is our opinion, if the councilman abstained from all action in regard to the contract in his capacity as a local governmental officer, that his private business may contract with the city or any agency thereof. In addition, under K.S.A. 75-4304(d)(1), he may participate as a local government officer in the making of the contract with his private business, so long as the contract was let after competitive bidding was duly published.

Opinion No. 2013-04

Written August 21, 2013, to Charles Householder, Jr., Kansas City, Kansas.

Synopsis: Under the facts presented, an appointed member of a state board that holds a position with an outside organization may not participate in any license inspection, contract between their state board and the outside organization, or become employed by any such organization for two years after either the contract is completed or termination of board membership, whichever occurs sooner.

Cited herein: K.S.A. 46-233 and 46-286.

Dear Mr. Householder:

This opinion is in response to your request for an opinion from the Kansas Governmental Ethics Commission (Commission), concerning application of the state conflict of interest laws, K.S.A. 46-215 et seq. We note at the outset that the Commission(s jurisdiction is limited to the applicability of K.S.A. 46-215 et seq., and the Commission's opinion does not address whether some other statutory system, common law theory, or agency rule or regulation applies to your inquiry.

Factual Statement

You are currently an appointed member of the Kansas Board of Cosmetology (KBOC). The mission of the KBOC is to protect the health and safety of the consuming public by licensing qualified individuals and enforcing standards of practice.

ErgoMetrics & Applied Personnel Research, Inc., also known as National Testing Network Inc., is a business entity contracted by the KBOC to administer written practical exams for licensing purposes. When the contract was approved by the KBOC, you participated in that approval, but did not participate in the development of the contract itself. ErgoMetrics utilizes a practical exam developed by you in collaboration with another person. ErgoMetrics has extended an offer to employ you as an exam rater and for the purposes of training others to rate the Body Arts Practical Exam.

Question

- (1) Whether a KBOC board member, may be employed as a rater or contract rater with KBOC contractor, ErgoMetrics?
- (2) Would I need to change my statement of substantial interests?

Analysis and Opinion

Two statutes apply to your query: K.S.A. 46-286, which prohibits participation by a member of a state board, council or commission in the licensure, inspection, or regulation of a business in which the such member holds a position and K.S.A. 2012 Supp. 46-233, which concerns state officials or employees employment with organizations contracting with the state in which the state official or employee had participated. Each will be addressed in turn.

K.S.A. 46-286 provides, in pertinent part:

(b) ...no member of...[a] state board, council or commission shall participate in any license, inspection or contract on behalf of their state board, council or commission with any outside organization with which such member is associated...

Since you are an appointed member of the KBOC, the licensing authority that contracts with ErgoMetrics to conduct licensing exams, K.S.A. 46-286(b) prohibits you from participating in any license, inspection or contract which KBOC has contracted ErgoMetrics to perform. This would include working for ErgoMetrics as a rater, or training raters, because these jobs participate in the licensing for which the KBOC is responsible and are integral to the contract between KBOC and ErgoMetrics.

K.S.A. 2012 Supp. 46-233 provides, in pertinent part:

(a)(2) ...whenever any individual has participated as a state officer or employee in the making of any contract

with any person or business, such individual shall not accept employment with such person or business as an employee, independent contractor or subcontractor until two years after the performance of the contract is completed or until two years after the individual terminates employment as a state officer or employee, whichever is sooner.

(e)(2) "Substantially involved in the preparation or participate in the making of a contract" means having approved or disapproved a contract or having provided significant factual or specific information or advice or recommendations in relation to the negotiated terms of the contract.

Members of the KBOC are entitled to receive compensation in addition to other amounts for expense allowances or reimbursement of expenses, pursuant to K.S.A. 74-2702(b). A stipend in addition reimbursement for travel and meal expenses is provided to KBOC members. Therefore, a member of the KBOC is a "state officer or employee" as defined in K.S.A. 46-221 which provides in pertinent part:

(a) "State officer or employee" means ... any individual who is an elected or appointed state officer, and ... any individual who receives monthly or semimonthly compensation for services from the state or any state agency. State officer or employee ... does not include any appointed member of an advisory council, commission or board, who serves without compensation other than amounts for expense allowances or reimbursement of expenses ... when such member is engaged in performing a function or duty for such council, commission or board.

Since the KBOC contracted the services of ErgoMetrics, the KBOC members participated in the approval process. By your participation in the approval of the contract between the KBOC and ErgoMetrics, K.S.A. 2012 Supp. 46-233 prohibits you from accepting employment with ErgoMetrics or contracting with ErgoMetrics for two years after the date you either leave the KBOC or the contract is completed, whichever occurs first.

In conclusion, K.S.A. 46-286(b) prohibits you from being employed by or contracting with ErgoMetrics while a member of the KBOC. K.S.A. 2012 Supp. 46-233(a)(2) prohibits you from obtaining employment with Ergo-Metrics for two years from the date you leave the KBOC or expiration of the two year contract, whichever occurs sooner. Your question regarding changes to your statement of substantial interest is rendered moot by the answer to your first question.

> G. Daniel Harden, Chairman By Direction of the Commission

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended and revoked administrative regulations and the volume and page number of the Kansas Register issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the Kansas Administrative Regulations and the 2012 Supplement of the Kansas Administrative Regulations.

AGENCY 1: DEPARTMENT OF ADMINISTRATION

ADMINISTRATION		
Reg. No.	Action	Register
1-64-1	Revoked	V. 31, p. 171
AG	ENCY 4: DEPARTM	
	AGRICULTUR	E
Reg. No.	Action	Register
4-15-4	Amended	V. 31, p. 570
4-15-5	Amended	V. 31, p. 301
4-15-6	Amended	V. 31, p. 301
4-15-7	Amended	V. 31, p. 570
4-15-8	Amended	V. 31, p. 570 V. 31, p. 571
4-15-9	Amended	V. 31, p. 571
4-15-9a 4-15-10	New Amended	V. 31, p. 571
4-15-10	Amended	V. 31, p. 571 V. 31, p. 572
4-16-1a	Amended	V. 32, p. 408
4-16-1c	Amended	V 32 p 409
4-16-7a	Amended	V. 32, p. 409 V. 32, p. 410
4-16-306	New	V. 32, p. 410
4-17-1a	Revoked	V. 32, p. 411 V. 32, p. 411
4-17-1c	Revoked	V. 32, p. 411
4-17-300	Revoked	V. 32, p. 411
4-17-302		
through	D 1 1	11.00 414
4-17-305 4-27-2	Revoked	V. 32, p. 411
through 4-27-5	Amended	V. 32, p. 93, 94
4-27-8	7 michaea	v. 52, p. 75, 74
through		
4-27-12	Amended	V. 32, p. 95-100
4-27-15		• •
through		
4-27-18	Amended	V. 32, p. 100-104
4-27-20	Amended	V. 32, p. 104
4-27-21	Amended	V. 32, p. 104
4-28-1	Amended	V. 32, p. 105
4-28-2 4-28-3	Amended Revoked	V. 32, p. 349 V. 31, p. 1276 V. 31, p. 1276
4-28-3	Revoked	V. 31, p. 1276
4-28-5	Amended	V. 32, p. 105
4-28-6	Amended (T)	V. 31, p. 998
4-28-6	Amended	V. 32, p. 499
4-28-7	Revoked	V. 31, p. 1277
4-28-8	Amended	V. 32, p. 349
4-28-9		
through	D 1 1	14 00 040
4-28-16	Revoked	V. 32, p. 349
4-28-18		
through 4-28-22	Revoked	V 32 p 105
4-28-23	Amended	V. 32, p. 105 V. 32, p. 105
4-28-24	- Interfacea	
through		
4-28-30	Revoked	V. 32, p. 106
4-28-31	New (T)	V. 31, p. 998 V. 31, p. 1277
4-28-31	New	V. 31, p. 1277
4-28-32	New	V. 32, p. 106
4-28-33	New	V. 32, p. 499
4-28-34	New	V. 32, p. 500
AG	ENCY 5: DEPARTM	IENT OF

AGRICULTURE—DIVISION OF WATER RESOURCES

Reg. No.	Action	Register
5-9-3	Amended	V. 31, p. 773
5-16-1	Amended	V. 32, p. 566

Kansas Register

		0
5-16-2	Revoked	V. 32, p. 566
5-16-3	Amended	V. 32, p. 566
5-16-4	Amended	V. 32, p. 567
5-16-5	Revoked	V. 32, p. 567 V. 32, p. 567
5-16-6	Amended	V. 32, p. 567 V. 32, p. 567
5-16-7	Amended	
		V. 32. p. 567
AGEN	CY 7: SECRETAF	RY OF STATE
Reg. No.	Action	Register
0	Amondod	0
7-23-4	Amended	V. 31, p. 197
7-23-14	New	V. 31, p. 197
7-36-7	New	V. 31, p. 198
7-36-8	New	V. 31, p. 199
7-46-1	New	V. 31, p. 199
7-46-2	New	V. 31, p. 199
7-46-3	New	V. 31, p. 200
AGI	ENCY 10: KANSA OF INVESTIGA	
Reg. No.	Action	Register
10-10-2	Amended	V. 32, p. 960
10-10-5	New	V. 32, p. 960
	ENCY 11: DEPAR RICULTURE—DI	VISION OF
	CONSERVAT	ION
Reg. No.	Action	Register
11-12-1		
through		
11-12-7	Amended	V. 32, p. 501-503
		-
	4: DEPARTMEN	
D.	IVISION OF ALC	
	BEVERAGE CON	NTROL
Reg. No.	Action	Register
-	Amondod (T)	-
14-13-1	Amended (T)	V. 31, p. 1356
14-13-1	Amended	V. 32, p. 148
14-13-2	Amended	V. 32, p. 149
14-13-3	Revoked	V. 32, p. 150
14-13-4		
through	Amondod	V 22 m 150 151
14-13-10	Amended	V. 32, p. 150, 151
14-13-11	Revoked	V. 32, p. 152
14-13-13	Amended (T)	V. 31, p. 1357
14-13-13	Amended	V. 32, p. 152
14-13-15	Amended	V. 32, p. 153
14-13-16	New (T)	V. 31, p. 1358
14-13-16	New (T)	V. 32, p. 407
14-13-17	New (T)	V. 31, p. 1359
14-13-17	New	V. 32, p. 408
14-13-18	New	V. 32, p. 408
14-16-25	Amended	V. 31, p. 1427
AGEN	CY 16: ATTORN	EY GENERAL
Reg. No.	Action	Register
-		register
16-8-1		
through	NI (T)	V 22 0/10//
16-8-7	New (T)	V. 32, p. 864-866
16-11-7	Amended (T)	V. 32, p. 916
16-12-1		
through	N.T. (777)	1050 10/5
16-12-10	New (T)	V. 31, p. 1359-1365
16-12-1		
through		
16-12-10		
	New	V. 32, p. 23-29
AC	New GENCY 17: OFFIC	
	GENCY 17: OFFIC	E OF THE
STA	GENCY 17: OFFIC TE BANK COMM	E OF THE IISSIONER
STA Reg. No.	GENCY 17: OFFIC TE BANK COMM Action	E OF THE 1ISSIONER Register
STA	GENCY 17: OFFIC TE BANK COMM	E OF THE IISSIONER
STA Reg. No. 17-11-18	GENCY 17: OFFIC TE BANK COMM Action	E OF THE MISSIONER Register V. 32, p. 372
STA Reg. No. 17-11-18 AG	GENCY 17: OFFIC TE BANK COMM Action Amended	E OF THE MISSIONER Register V. 32, p. 372
STA Reg. No. 17-11-18 AG C	ENCY 17: OFFIC TE BANK COMM Action Amended ENCY 20: CRIME OMPENSATION	E OF THE MISSIONER Register V. 32, p. 372 VICTIMS BOARD
STA Reg. No. 17-11-18 AG C Reg. No.	ENCY 17: OFFIC TE BANK COMM Action Amended ENCY 20: CRIME OMPENSATION Action	E OF THE MISSIONER Register V. 32, p. 372
STA Reg. No. 17-11-18 AG C Reg. No. 20-2-5	ENCY 17: OFFIC TE BANK COMM Action Amended ENCY 20: CRIME OMPENSATION Action Revoked	E OF THE MISSIONER V. 32, p. 372 VICTIMS BOARD Register V. 31, p. 1031
STA Reg. No. 17-11-18 AG C Reg. No.	ENCY 17: OFFIC TE BANK COMM Action Amended ENCY 20: CRIME OMPENSATION Action Revoked Revoked	E OF THE MISSIONER Register V. 32, p. 372 VICTIMS BOARD Register V. 31, p. 1031 V. 31, p. 1031
STA Reg. No. 17-11-18 AG C Reg. No. 20-2-5	ENCY 17: OFFIC TE BANK COMM Action Amended ENCY 20: CRIME OMPENSATION Action Revoked	E OF THE MISSIONER V. 32, p. 372 VICTIMS BOARD Register V. 31, p. 1031
STA Reg. No. 17-11-18 AG C Reg. No. 20-2-5 20-3-1 20-3-2	ENCY 17: OFFIC TE BANK COMM Action Amended ENCY 20: CRIME OMPENSATION Action Revoked Revoked Revoked Revoked	E OF THE MISSIONER Register V. 32, p. 372 SVICTIMS BOARD Register V. 31, p. 1031 V. 31, p. 1031 V. 31, p. 1031 V. 31, p. 1031
STA Reg. No. 17-11-18 AG C Reg. No. 20-2-5 20-3-1 20-3-2 AGEN	ENCY 17: OFFIC TE BANK COMM Action Amended ENCY 20: CRIME OMPENSATION Action Revoked Revoked Revoked CY 22: STATE FIR	E OF THE MISSIONER V. 32, p. 372 VICTIMS BOARD Register V. 31, p. 1031 V. 31, p. 1031 V. 31, p. 1031 REMARSHAL
STA Reg. No. 17-11-18 AG C Reg. No. 20-2-5 20-3-1 20-3-2	ENCY 17: OFFIC TE BANK COMM Action Amended ENCY 20: CRIME OMPENSATION Action Revoked Revoked Revoked Revoked	E OF THE MISSIONER Register V. 32, p. 372 SVICTIMS BOARD Register V. 31, p. 1031 V. 31, p. 1031 V. 31, p. 1031 V. 31, p. 1031
STA Reg. No. 17-11-18 AG C Reg. No. 20-2-5 20-3-1 20-3-2 AGEN	ENCY 17: OFFIC TE BANK COMM Action Amended ENCY 20: CRIME OMPENSATION Action Revoked Revoked Revoked CY 22: STATE FIR	E OF THE MISSIONER Register V. 32, p. 372 E VICTIMS BOARD Register V. 31, p. 1031 V. 31, p. 1031 V. 31, p. 1031 REMARSHAL Register
STA Reg. No. 17-11-18 AG C Reg. No. 20-2-5 20-3-1 20-3-2 AGEN(Reg. No.	ENCY 17: OFFIC TE BANK COMM Action Amended ENCY 20: CRIME OMPENSATION Action Revoked Revoked Revoked CY 22: STATE FII Action	E OF THE MISSIONER V. 32, p. 372 VICTIMS BOARD Register V. 31, p. 1031 V. 31, p. 1031 V. 31, p. 1031 REMARSHAL

Reg. No. Register V. 32, p. 867 26-39-100 Amended (T) 26-50-10 New (T) V. 32, p. 870 26-50-12 New (T) V. 32, p. 871 26-50-20 New (T) V. 32, p. 871 26-50-22 New (T) V. 32, p. 871 26-50-24 New (T) V. 32, p. 872 26-50-26 New (T) V. 32, p. 873 26-50-30 New (T) V. 32, p. 873 V. 32, p. 874 26-50-32 New (T) V. 32, p. 874 26-50-34 New (T) 26-50-36 V. 32, p. 874 New (T) 26-50-38 New (T) V. 32, p. 875 26-50-40 V. 32, p. 875 New (T) **AGENCY 28: DEPARTMENT OF HEALTH** AND ENVIRONMENT Reg. No. Action Register 28-4-801 V. 32, p. 1026 Amended 28-4-814 V. 32, p. 1027 Amended 28-4-816 V. 32, p. 1028 Amended 28-4-820 Amended V. 32, p. 1029 28-4-821 V. 32, p. 1030 Amended 28-19-350 Amended V. 31, p. 1507 28-19-735 Amended V. 31, p. 1508 28-19-750 V. 31, p. 1509 Amended 28-19-750a V. 31, p. 1509 Amended 28-21-2 Revoked V. 32, p. 106 28-21-4 Revoked V. 32, p. 106 V. 32, p. 106 28-21-5 Revoked 28-23-1 Revoked V. 32, p. 106 28-23-2 Revoked V. 32, p. 106 V. 32, p. 106 28-23-3 Revoked 28-23-6 V. 32, p. 106 Revoked V. 32, p. 106 28-23-7 Revoked 28-23-11 Revoked V. 32, p. 106 28-23-12 V. 32, p. 106 Revoked V. 32, p. 106 28-23-13 Revoked 28-29-109 V. 32, p. 938 Amended 28-29-300 V. 31, p. 1509 Amended 28-29-330 through 28-29-333 V. 31, p. 1510 New 28-30-2 through V. 32, p. 522-525 V. 31, p. 196 28-30-6 Amended 28-31-10 Amended V. 32, p. 415 28-31-260b New 28-31-268 Amended V. 32, p. 416 V. 32, p. 208 28-32-13 Amended 28-35-147a V. 32, p. 260 Amended 28-35-600 through 28-35-608 V. 31, p. 90-93 New 28-39-164 through V. 32, p. 876 28-39-168 Revoked (T) 28-39-169a Revoked (T) V. 32, p. 876 28-39-169b Revoked (T) V. 32, p. 876 28-39-169c Revoked (T) V. 32, p. 876 28-54-1 through V. 31, p. 280-282 28-54-5 Amended 28-56-1 through V. 31, p. 708-711 28-56-10 New V. 31, p. 1528 V. 32, p. 23 28-56-2 Amended 28-75-100 New AGENCY 30: DEPARTMENT FOR CHILDREN AND FAMILIES (FORMERLY DEPARTMENT OF SOCIAL AND REHABILITATION SERVICES) Reg. No. Action Register

AGENCY 26: DEPARTMENT FOR AGING

AND DISABILITY SERVICES

Action

30-46-10	Amended (T)	V. 31, p. 887
30-46-10	Amended	V. 31, p. 1126
AGENCY 40: KANSAS INSURANCE DEPARTMENT		
Reg. No.	Action	Register
40-1-20	Amended	V. 32, p. 183
40-1-37	Amended	V. 31, p. 887

Vol. 32, No. 35, August 29, 2013

New

V. 31, p. 974

22-25-2

(continued)

Kansas	Register
--------	----------

40-1-48	Amended	V. 31, p. 887
40-2-14a 40-4-42c	Amended Amended	V. 32, p. 183 V. 31, p. 170
40-5-7	Revoked	V. 31, p. 114
AGE	NCY 44: DEPARTMEN CORRECTIONS	T OF
Reg. No.	Action	Register
44-5-115 44-6-101	Amended Amended	V. 32, p. 58 V. 32, p. 58
44-6-114e	Amended	V. 32, p. 60
44-6-115a	Amended	V. 32, p. 64
44-6-115b	Amended	V. 32, p. 65
44-6-115c 44-6-125	Amended Amended	V. 32, p. 66 V. 32, p. 67
44-6-127	Amended	V. 32, p. 68
44-6-134	Amended	V. 32, p. 69
44-6-135	Amended	V. 32, p. 69
44-6-135a 44-6-138	Amended Amended	V. 32, p. 70 V. 32, p. 70
44-9-101	Amended	V. 31, p. 302
44-9-105	Amended	V. 31, p. 303
44-9-107 44-9-501	New	V. 31, p. 304
through		
44-9-504	New V.3	31, p. 304, 305
44-11-111	Amended	V. 31, p. 193
44-11-113 44-11-119	Amended Amended	V. 31, p. 194 V. 31, p. 195
44-11-121	Amended	V. 31, p. 195 V. 31, p. 195
44-11-123	Amended	V. 31, p. 195
44-11-127	Amended	V. 31, p. 195
44-11-129 44-11-132	Amended Amended	V. 31, p. 196 V. 31, p. 196
44-15-204	New (T)	V. 32, p. 862
AGENCY	45: PRISONER REVIE	-
Reg. No.	Action	Register
45-100-1	Revoked	V. 31, p. 306
45-500-1	Revoked	v. 01, p. 000
through		
45-500-4	Revoked	V. 31, p. 306
	51: DEPARTMENT OF	
		ENSATION
	OF WORKERS COMP Action	
Reg. No. 51-9-15	Action Revoked	Register
Reg. No.	Action	
Reg. No. 51-9-15 51-9-17	Action Revoked	Register V. 32, p. 836 V. 32, p. 88
Reg. No. 51-9-15 51-9-17	Action Revoked Amended	Register V. 32, p. 836 V. 32, p. 88
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105	Action Revoked Amended CY 60: BOARD OF NU Action Amended	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-106	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amended	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-106 60-9-107	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amended Amended	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-106	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amended	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-11-101 60-11-102 60-11-103	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amended Amended Amended Amended Amended	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413 V. 31, p. 573 V. 31, p. 573 V. 31, p. 573
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-106 60-9-107 60-11-101 60-11-102 60-11-103 60-11-103	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413 V. 31, p. 572 V. 31, p. 573 V. 31, p. 573 V. 31, p. 574
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-11-101 60-11-102 60-11-103	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amended Amended Amended Amended Amended	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413 V. 31, p. 572 V. 31, p. 573 V. 31, p. 573 V. 31, p. 574
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-11-101 60-11-103 60-11-103 60-11-104 60-11-104a 60-11-105 60-11-105	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 412 V. 32, p. 413 V. 31, p. 573 V. 31, p. 573 V. 31, p. 574 V. 31, p. 574 V. 31, p. 574 V. 31, p. 574 V. 31, p. 575
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-11-101 60-11-102 60-11-103 60-11-104 60-11-104 60-11-105 60-11-106 60-11-107	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413 V. 31, p. 573 V. 31, p. 573 V. 31, p. 573 V. 31, p. 574 V. 31, p. 574 V. 31, p. 575 V. 31, p. 575 V. 31, p. 575
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-105 60-9-107 60-11-101 60-11-103 60-11-103 60-11-104 60-11-104a 60-11-105 60-11-106 60-11-107 60-11-113	Action Revoked Amended CY 60: BOARD OF NU Action Amended	$\begin{array}{c} \textbf{Register} \\ V. 32, p. 836 \\ V. 32, p. 88 \\ \textbf{RSING} \\ \hline \textbf{Register} \\ V. 32, p. 411 \\ V. 32, p. 412 \\ V. 32, p. 412 \\ V. 32, p. 413 \\ V. 31, p. 572 \\ V. 31, p. 573 \\ V. 31, p. 573 \\ V. 31, p. 574 \\ V. 31, p. 574 \\ V. 31, p. 575 \\$
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-11-101 60-11-102 60-11-103 60-11-104 60-11-104 60-11-105 60-11-106 60-11-107	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413 V. 31, p. 573 V. 31, p. 573 V. 31, p. 573 V. 31, p. 574 V. 31, p. 574 V. 31, p. 575 V. 31, p. 575 V. 31, p. 575
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-11-101 60-11-102 60-11-103 60-11-104 60-11-105 60-11-105 60-11-107 60-11-113 60-11-118 60-11-118 60-11-118	Action Revoked Amended CY 60: BOARD OF NU Action Amended	RegisterV. 32, p. 836V. 32, p. 88RSINGRegisterV. 32, p. 411V. 32, p. 412V. 32, p. 413V. 31, p. 573V. 31, p. 573V. 31, p. 573V. 31, p. 574V. 31, p. 574V. 31, p. 574V. 31, p. 575V. 31, p. 576V. 31, p. 576V. 31, p. 576V. 31, p. 576V. 31, p. 576
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-105 60-9-107 60-11-101 60-11-102 60-11-103 60-11-104a 60-11-105 60-11-105 60-11-107 60-11-113 60-11-118 60-11-118 60-11-119 60-11-120	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	RegisterV. 32, p. 836V. 32, p. 88RSINGRegisterV. 32, p. 411V. 32, p. 412V. 32, p. 412V. 32, p. 413V. 31, p. 573V. 31, p. 573V. 31, p. 573V. 31, p. 574V. 31, p. 574V. 31, p. 575V. 31, p. 576V. 31, p. 576
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-11-101 60-11-102 60-11-103 60-11-104 60-11-105 60-11-105 60-11-107 60-11-113 60-11-118 60-11-118 60-11-118	Action Revoked Amended CY 60: BOARD OF NU Action Amended	RegisterV. 32, p. 836V. 32, p. 88RSINGRegisterV. 32, p. 411V. 32, p. 412V. 32, p. 413V. 31, p. 573V. 31, p. 573V. 31, p. 573V. 31, p. 574V. 31, p. 574V. 31, p. 575V. 31, p. 576V. 31, p. 576
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-91-07 60-11-101 60-11-103 60-11-103 60-11-104 60-11-105 60-11-105 60-11-105 60-11-105 60-11-118 60-11-118 60-11-119 60-11-121 60-11-121 60-12-106 60-13-112	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	RegisterV. 32, p. 836V. 32, p. 88RSINGRegisterV. 32, p. 411V. 32, p. 412V. 32, p. 413V. 31, p. 573V. 31, p. 573V. 31, p. 573V. 31, p. 574V. 31, p. 574V. 31, p. 575V. 31, p. 576V. 31, p. 576
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-105 60-9-107 60-11-101 60-11-102 60-11-103 60-11-104a 60-11-104a 60-11-105 60-11-105 60-11-107 60-11-113 60-11-118 60-11-118 60-11-120 60-11-120 60-13-122 60-13-122 60-16-102	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	RegisterV. 32, p. 836V. 32, p. 88RSINGRegisterV. 32, p. 411V. 32, p. 412V. 32, p. 412V. 32, p. 413V. 31, p. 573V. 31, p. 573V. 31, p. 573V. 31, p. 574V. 31, p. 574V. 31, p. 575V. 31, p. 576V. 31, p. 577
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-91-07 60-11-101 60-11-103 60-11-103 60-11-104 60-11-105 60-11-105 60-11-105 60-11-105 60-11-118 60-11-118 60-11-119 60-11-121 60-11-121 60-12-106 60-13-112	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	RegisterV. 32, p. 836V. 32, p. 88RSINGRegisterV. 32, p. 411V. 32, p. 412V. 32, p. 413V. 31, p. 573V. 31, p. 573V. 31, p. 573V. 31, p. 574V. 31, p. 574V. 31, p. 575V. 31, p. 576V. 31, p. 577V. 31, p. 577
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-105 60-9-107 60-11-101 60-11-102 60-11-103 60-11-103 60-11-104 60-11-104 60-11-105 60-11-106 60-11-113 60-11-118 60-11-118 60-11-118 60-11-121 60-11-121 60-12-106 60-13-112 60-16-103 60-16-103 60-16-104 60-17-101	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	RegisterV. 32, p. 836V. 32, p. 88RSINGRegisterV. 32, p. 411V. 32, p. 412V. 32, p. 412V. 32, p. 413V. 31, p. 573V. 31, p. 573V. 31, p. 573V. 31, p. 574V. 31, p. 574V. 31, p. 575V. 31, p. 576V. 31, p. 577V. 31, p. 578V. 31, p. 578
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-105 60-9-107 60-11-102 60-11-102 60-11-102 60-11-104 60-11-104 60-11-105 60-11-105 60-11-105 60-11-107 60-11-118 60-11-118 60-11-118 60-11-120 60-11-120 60-11-120 60-13-112 60-16-102 60-16-103 60-16-104 60-17-101 60-17-104	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 412 V. 32, p. 413 V. 32, p. 413 V. 31, p. 573 V. 31, p. 573 V. 31, p. 574 V. 31, p. 574 V. 31, p. 575 V. 31, p. 576 V. 31, p. 577 V. 31, p. 578 V. 31, p. 578 V. 31, p. 578 <tr td=""></tr>
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-9-107 60-11-101 60-11-102 60-11-104 60-11-104 60-11-105 60-11-105 60-11-105 60-11-107 60-11-113 60-11-118 60-11-119 60-11-121 60-12-106 60-13-112 60-16-102 60-16-103 60-16-104 60-17-101 60-17-105	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	RegisterV. 32, p. 836V. 32, p. 88RSINGRegisterV. 32, p. 411V. 32, p. 412V. 32, p. 413V. 31, p. 573V. 31, p. 573V. 31, p. 573V. 31, p. 574V. 31, p. 574V. 31, p. 574V. 31, p. 575V. 31, p. 576V. 31, p. 577V. 31, p. 577V. 31, p. 578V. 31, p. 578V. 31, p. 580V. 31, p. 580V. 31, p. 580V. 31, p. 581
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-105 60-9-107 60-11-102 60-11-102 60-11-102 60-11-104 60-11-104 60-11-105 60-11-105 60-11-105 60-11-107 60-11-118 60-11-118 60-11-118 60-11-120 60-11-120 60-11-120 60-13-112 60-16-102 60-16-103 60-16-104 60-17-101 60-17-104	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 412 V. 32, p. 413 V. 32, p. 413 V. 31, p. 573 V. 31, p. 573 V. 31, p. 574 V. 31, p. 574 V. 31, p. 575 V. 31, p. 576 V. 31, p. 577 V. 31, p. 578 V. 31, p. 578 V. 31, p. 578 <tr td=""></tr>
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-9-107 60-11-102 60-11-102 60-11-103 60-11-104a 60-11-104a 60-11-105 60-11-107 60-11-107 60-11-113 60-11-118 60-11-118 60-11-120 60-11-120 60-13-112 60-16-102 60-16-102 60-16-103 60-16-104 60-17-101 60-17-104 60-17-101 60-17-111	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	RegisterV. 32, p. 836V. 32, p. 88RSINGRegisterV. 32, p. 411V. 32, p. 412V. 32, p. 413V. 31, p. 573V. 31, p. 573V. 31, p. 573V. 31, p. 574V. 31, p. 574V. 31, p. 574V. 31, p. 575V. 31, p. 576V. 31, p. 577V. 31, p. 578V. 31, p. 578V. 31, p. 580V. 31, p. 581V. 31, p. 581V. 31, p. 581V. 31, p. 581
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-9-107 60-11-102 60-11-102 60-11-103 60-11-104a 60-11-104a 60-11-105 60-11-107 60-11-107 60-11-113 60-11-118 60-11-118 60-11-120 60-11-120 60-13-112 60-16-102 60-16-102 60-16-103 60-16-104 60-17-101 60-17-104 60-17-101 60-17-111	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	RegisterV. 32, p. 836V. 32, p. 88RSINGRegisterV. 32, p. 411V. 32, p. 412V. 32, p. 413V. 31, p. 573V. 31, p. 573V. 31, p. 573V. 31, p. 574V. 31, p. 574V. 31, p. 574V. 31, p. 575V. 31, p. 576V. 31, p. 577V. 31, p. 578V. 31, p. 578V. 31, p. 580V. 31, p. 581V. 31, p. 581V. 31, p. 581V. 31, p. 581
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-9-107 60-11-102 60-11-102 60-11-103 60-11-104a 60-11-104a 60-11-105 60-11-104a 60-11-107 60-11-104 60-11-107 60-11-113 60-11-113 60-11-120 60-13-112 60-16-102 60-16-102 60-16-103 60-16-104 60-17-101 60-17-104 60-17-101 60-17-110 80-17-104 80-17-104 80-17-104 80-17-104 80-17-104 80-17-104 80-17-104 80-17-105 80-17-105 80-17-104	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413 V. 32, p. 412 V. 32, p. 413 V. 31, p. 573 V. 31, p. 573 V. 31, p. 573 V. 31, p. 573 V. 31, p. 574 V. 31, p. 574 V. 31, p. 574 V. 31, p. 575 V. 31, p. 576 V. 31, p. 577 V. 31, p. 577 V. 31, p. 578 V. 31, p. 578 V. 31, p. 580 V. 31, p. 580 V. 31, p. 581
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-9-107 60-11-102 60-11-103 60-11-104 60-11-105 60-11-104 60-11-105 60-11-104 60-11-105 60-11-106 60-11-107 60-11-108 60-11-109 60-11-113 60-11-121 60-12-106 60-13-112 60-14-102 60-15-103 60-16-104 60-17-105 60-17-101 AGENC Reg. No. 68-20-30	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413 V. 32, p. 412 V. 32, p. 413 V. 31, p. 573 V. 31, p. 574 V. 31, p. 575 V. 31, p. 575 V. 31, p. 575 V. 31, p. 575 V. 31, p. 576 V. 31, p. 577 V. 31, p. 577 V. 31, p. 578 V. 31, p. 580 V. 31, p. 581 V. 31, p. 1049
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-9-107 60-11-101 60-11-102 60-11-103 60-11-104 60-11-105 60-11-104 60-11-105 60-11-104 60-11-105 60-11-107 60-11-108 60-11-107 60-11-107 60-11-108 60-11-107 60-11-107 60-11-107 60-11-108 60-11-118 60-11-120 60-11-121 60-12-106 60-16-102 60-16-103 60-17-101 60-17-101 60-17-101 60-17-101 60-17-101 68-20-30 AGENCY	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413 V. 31, p. 573 V. 31, p. 574 V. 31, p. 575 V. 31, p. 575 V. 31, p. 575 V. 31, p. 575 V. 31, p. 576 V. 31, p. 577 V. 31, p. 577 V. 31, p. 578 V. 31, p. 580 V. 31, p. 581 V. 31, p. 1049 ETOLOGY
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-9-107 60-11-101 60-11-102 60-11-103 60-11-104 60-11-105 60-11-104 60-11-105 60-11-106 60-11-107 60-11-108 60-11-113 60-11-120 60-11-121 60-11-120 60-11-120 60-11-120 60-11-120 60-11-120 60-11-121 60-12-106 60-15-102 60-16-103 60-16-104 60-17-105 60-17-104 60-17-105 60-17-101 AGENC Reg.No. 68-20-30 AGENCY Reg. No.	Action Revoked Amended CY 60: BOARD OF NU Action Amended Amend	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413 V. 31, p. 573 V. 31, p. 573 V. 31, p. 573 V. 31, p. 574 V. 31, p. 574 V. 31, p. 574 V. 31, p. 574 V. 31, p. 575 V. 31, p. 576 V. 31, p. 577 V. 31, p. 577 V. 31, p. 580 V. 31, p. 581 V. 31, p. 1049 ETOLOGY Register
Reg. No. 51-9-15 51-9-17 AGEN Reg. No. 60-9-105 60-9-107 60-9-107 60-11-101 60-11-102 60-11-103 60-11-104 60-11-105 60-11-104 60-11-105 60-11-104 60-11-105 60-11-107 60-11-108 60-11-107 60-11-107 60-11-108 60-11-107 60-11-107 60-11-107 60-11-108 60-11-118 60-11-120 60-11-121 60-12-106 60-16-102 60-16-103 60-17-101 60-17-101 60-17-101 60-17-101 60-17-101 68-20-30 AGENCY	Action Revoked Amended CY 60: BOARD OF NU Action Amended Ame	Register V. 32, p. 836 V. 32, p. 88 RSING Register V. 32, p. 411 V. 32, p. 412 V. 32, p. 413 V. 31, p. 573 V. 31, p. 574 V. 31, p. 575 V. 31, p. 575 V. 31, p. 575 V. 31, p. 575 V. 31, p. 576 V. 31, p. 577 V. 31, p. 577 V. 31, p. 578 V. 31, p. 580 V. 31, p. 581 V. 31, p. 1049 ETOLOGY

		0
AGENC	Y 71: KANSAS	DENTAL BOARD
Reg. No.	Action	Register
71-3-9	Amended	V. 32, p. 504
		FACCOUNTANCY
Reg. No.	Action	Register
74-1-4	Amended	V. 31, p. 607
74-2-7	Amended	V. 31, p. 607
74-4-3a	Amended	V. 31, p. 608
74-4-7 74-4-8	Amended Amended	V. 31, p. 608 V. 31, p. 609
74-4-10	Amended	V. 31, p. 610
74-5-2	Amended	V. 31, p. 610
74-5-101	Amended Amended	V. 31, p. 611
74-5-202 74-5-302	Revoked	V. 31, p. 612 V. 31, p. 612
74-11-6	Amended	V. 31, p. 612
AGEN	ICY 82: STATE COMMIS	CORPORATION SION
Reg. No.	Action	Register
82-3-135a	Amended	V. 32, p. 940
82-3-602	Amended	V. 32, p. 940
82-3-603 82-3-604	Amended Amended	V. 32, p. 940 V. 32, p. 941
82-3-607	Amended	V. 32, p. 942
82-3-608	New	V. 32, p. 942
82-3-1200 through		
82-3-1223 82-3-1300	New	V. 31, p. 1472-1490
through		
82-3-1307	New	V. 32, p. 942, 943
		D OF REGENTS
Reg. No.	Action	Register
88-3-8a 88-29-1	Amended Amended	V. 32, p. 11 V. 32, p. 43
88-29-5	Amended	V. 32, p. 43 V. 31, p. 381
88-29-6	Amended	V. 31, p. 382
88-29-7	Amended	V. 32, p. 44
88-29-7a 88-29-8	Amended Amended	V. 31, p. 382 V. 32, p. 44
88-29-8a	Amended	V. 32, p. 45
88-29-8b	Amended	V. 32, p. 45
88-29-8c 88-29-10	Amended Amended	V. 32, p. 46 V. 31, p. 382
88-29-11	Amended	V. 31, p. 1246
88-29a-1	New	V. 32, p. 46
88-29a-2 88-29a-5	New Amended	V. 32, p. 47
88-29a-5 88-29a-6	Amended	V. 31, p. 383 V. 31, p. 384
88-29a-7	Amended	V. 32, p. 47
88-29a-7a	Amended	V. 31, p. 385
88-29a-8 88-29a-8c	Amended Amended	V. 32, p. 48
88-29a-30	Amended	V. 32, p. 48 V. 31, p. 385
88-29a-11	Amended	V. 31, p. 387
88-29a-18	Amended	V. 31, p. 388
88-29a-19 88-29b-1	Amended	V. 31, p. 389
through		
88-29b-7	New	V. 32, p. 49-53
88-29b-7a 88-29b-8	New	V. 32, p. 54 V. 32, p. 54
88-29b-8 88-29b-8a	New New	V. 32, p. 54 V. 32, p. 54
88-29b-8b	New	V. 32, p. 54
88-29b-8c	New	V. 32, p. 55
88-29b-9 88-29b-10	New New	V. 32, p. 55 V. 32, p. 56
	ENCY 91: DEPA	ARTMENT OF
Reg. No.	EDUCAT Action	ION Register
91-1-209	Amended	-
91-1-209 91-42-1	New	V. 31, p. 974 V. 32, p. 317
91-42-2	New	V. 32, p. 317
AGEN	CY 98: KANSAS	WATER OFFICE
AGENO Reg. No.	CY 98: KANSAS Action	6 WATER OFFICE Register
Reg. No. 98-1-1	Action Amended	Register V. 32, p. 995
Reg. No. 98-1-1 98-1-2	Action Amended Revoked	Register V. 32, p. 995 V. 32, p. 996
Reg. No. 98-1-1	Action Amended	Register V. 32, p. 995

98-2-3 through		
98-2-20	Revoked	V. 32, p. 996
98-4-1		
through 98-4-5	Amended	V. 32, p. 996-998
98-4-6	Revoked	V. 32, p. 998
98-4-7	Revoked	V. 32, p. 998
98-4-8 98-4-9	Amended Revoked	V. 32, p. 998 V. 32, p. 999
98-4-10	Revoked	V. 32, p. 999
98-5-1	Revoked	V. 32, p. 999
98-5-2 through		
98-5-8	Amended	V. 32, p. 999-1001
98-5-9	New	V. 32, p. 1001
98-6-1	Revoked	V. 32, p. 1002
98-6-3 98-6-4	Amended Amended	V. 32, p. 1002 V. 32, p. 1003
98-7-1		···
through	NT	V 22 - 1002 1004
98-7-4 98-7-6	New New	V. 32, p. 1003, 1004 V. 32, p. 1005
98-8-1	New	V. 32, p. 1005
98-8-2	New	V. 32, p. 1006
98-8-3	New	V. 32, p. 1006
	ENCY 99: DEPA	RTMENT OF ION OF WEIGHTS
AGRICU	AND MEAS	
Reg. No.	Action	Register
99-25-1	Amended	V. 32, p. 960
99-25-9	Amended	V. 32, p. 960 V. 32, p. 960
99-40-3	Amended	V. 32, p. 960
AGENCY	100: BOARD O	F HEALING ARTS
Reg. No.	Action	Register
100-28a-5	Amended	V. 31, p. 323
100-28a-10	Amended	V. 31, p. 324
AGENC		ORAL SCIENCES
D 11	REGULATORY	
Reg. No.	Action	Register
102-6-1 102-6-2	Revoked	V. 31, p. 114 V. 31, p. 114
	Revoked	
	Revoked	V. 31, p. 114
102-6-4 102-6-5	Revoked Revoked	V. 31, p. 114
102-6-4 102-6-5 102-6-8	Revoked Revoked	V. 31, p. 114 V. 31, p. 114 V. 31, p. 114
102-6-4 102-6-5 102-6-8 102-6-9	Revoked Revoked Revoked	V. 31, p. 114 V. 31, p. 114 V. 31, p. 114 V. 31, p. 114 V. 31, p. 114
102-6-4 102-6-5 102-6-8	Revoked Revoked	V. 31, p. 114 V. 31, p. 114
102-6-4 102-6-5 102-6-8 102-6-9 102-6-9a 102-6-10 102-6-11	Revoked Revoked Revoked Revoked Revoked Revoked	V. 31, p. 114 V. 31, p. 114
102-6-4 102-6-5 102-6-8 102-6-9 102-6-9a 102-6-10 102-6-11 102-6-12	Revoked Revoked Revoked Revoked Revoked Revoked Revoked	V. 31, p. 114 V. 31, p. 114
102-6-4 102-6-5 102-6-8 102-6-9 102-6-9a 102-6-10 102-6-11 102-6-12 102-7-3	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T)	V. 31, p. 114 V. 32, p. 916
102-6-4 102-6-5 102-6-8 102-6-9 102-6-9a 102-6-10 102-6-11 102-6-12 102-7-3	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B	V. 31, p. 114 V. 32, p. 916 OARD OF
102-6-4 102-6-5 102-6-8 102-6-9 102-6-9 102-6-10 102-6-11 102-6-12 102-7-3	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES
102-6-4 102-6-5 102-6-8 102-6-9 102-6-9 102-6-10 102-6-11 102-6-12 102-7-3 INDI Reg. No.	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action	V. 31, p. 114 V. 32, p. 916 OARD OF NSE SERVICES Register
102-6-4 102-6-5 102-6-8 102-6-9 102-6-9 102-6-10 102-6-11 102-6-12 102-7-3	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES
102-6-4 102-6-5 102-6-8 102-6-9 102-6-9 102-6-10 102-6-10 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-1	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T)	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002
102-6-4 102-6-5 102-6-8 102-6-9 102-6-9 102-6-10 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-1 through	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1313
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-11 102-6-12 102-7-1 INDI Reg. No. 105-3-2 105-3-2 105-7-1 through 105-7-4	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T)	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1313 V. 31, p. 1427, 1428
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-11 102-6-12 102-7-3 INDE Reg. No. 105-3-2 105-3-2 105-7-4 105-7-4 105-7-6 105-7-8	Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended Amended Revoked	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1313 V. 31, p. 1427, 1428 V. 31, p. 1428 V. 31, p. 1428
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-12 102-7-3 INDE Reg. No. 105-3-2 105-3-2 105-3-2 105-7-1 through 105-7-6 105-7-8 105-7-1	Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended Amended Revoked Amended	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1313 V. 31, p. 1427, 1428 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-7-2 105-7-4 105-7-8 105-7-8 105-7-8	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended Amended Revoked Amended Revoked Amended Y 106: COMMIS	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1313 V. 31, p. 1427, 1428 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 SSION ON PEACE
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-11 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-7-1 through 105-7-4 105-7-8 105-7-8 105-7-11 AGENC OFFICER	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended Amended Revoked Amended Revoked Amended Y 106: COMMIS	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 SION ON PEACE S AND TRAINING
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-11 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-4 105-7-4 105-7-8 105-7-8 105-7-8 105-7-8 105-7-8 105-7-8 105-7-1	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended Amended Revoked Amended Revoked Amended Y 106: COMMIS S' STANDARD	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1428 SSION ON PEACE S AND TRAINING NFORCEMENT
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-11 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-4 105-7-4 105-7-8 105-7-8 105-7-8 105-7-8 105-7-8 105-7-8 105-7-1	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended (T) Amended Amended Revoked Amended Revoked Amended Y 106: COMMIS S' STANDARD	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1428 SSION ON PEACE S AND TRAINING NFORCEMENT
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-11 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-7-1 through 105-7-4 105-7-8 105-7-8 105-7-12 AGENC OFFICER (FOR) T	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended (T) Amended (T) Amended Amended Amended Revoked Amended Y 106: COMMIS S' STANDARD MERLY LAW EI RAINING COM	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 SION ON PEACE S AND TRAINING NFORCEMENT IMISSION)
102-6-4 102-6-5 102-6-9 102-6-9 102-6-9 102-6-10 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-6 105-7-8 105-7-6 105-7-8 105-7-1 through 105-7-6 105-7-8 105-11-1 AGENCC OFFICER (FOR) T Reg. No. 106-1-1 through	Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended (T) Amended (T) Amended Amended Revoked Amended Revoked Amended S' STANDARD MERLY LAW EI RAINING COM	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1428 SSION ON PEACE SS AND TRAINING NFORCEMENT IMISSION) Register
102-6-4 102-6-5 102-6-9 102-6-9 102-6-9 102-6-10 102-6-11 102-6-12 102-7-3 Reg. No. 105-3-2 105-7-1 through 105-7-6 105-7-6 105-7-8 105-7-7 105-7-7 105-7-1 AGENC' OFFICER (FOR) T Reg. No. 106-1-1 through 106-1-8	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended (T) Amended (T) Amended Amended Amended Revoked Amended Y 106: COMMIS S' STANDARD MERLY LAW EI RAINING COM	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 SION ON PEACE S AND TRAINING NFORCEMENT IMISSION)
102-6-4 102-6-5 102-6-9 102-6-9 102-6-9 102-6-10 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-6 105-7-8 105-7-6 105-7-8 105-7-1 through 105-7-6 105-7-8 105-11-1 AGENCC OFFICER (FOR) T Reg. No. 106-1-1 through	Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended (T) Amended (T) Amended Amended Revoked Amended Revoked Amended S' STANDARD MERLY LAW EI RAINING COM	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1428 SSION ON PEACE SS AND TRAINING NFORCEMENT IMISSION) Register
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-1 through 105-7-6 105-7-8 105-7-1 105-7-6 105-7-8 105-11-1 AGENCC OFFICER (FOR) T Reg. No. 106-1-1 through 106-1-8 106-1-8	Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended (T) Amended (T) Amended Amended Revoked Amended S' STANDARD MERLY LAW EI RAINING COW Action Revoked (T) Revoked	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 SSION ON PEACE SS AND TRAINING NFORCEMENT IMISSION) Register V. 31, p. 1002 V. 31, p. 1002
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-1 through 105-7-6 105-7-8 105-11-1 AGENCC OFFICER (FOR) T Reg. No. 106-1-1 through 106-1-8 106-1-1 through 106-1-8 106-2-1	Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended Amended Revoked Amended Revoked Amended Revoked Amended Revoked Amended Revoked Amended Revoked Amended Revoked (T) Revoked New (T)	V. 31, p. 114 V. 32, p. 916 OARD OF SE SERVICES Register V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1428 SSION ON PEACE S AND TRAINING NFORCEMENT IMISSION) Register V. 31, p. 1002 V. 31, p. 1002
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-11 102-6-12 102-7-3 Reg. No. 105-3-2 105-7-1 through 105-7-6 105-7-8 105-7-8 105-7-1 through 105-7-8 105-1-1 through 106-1-8 106-1-1 through 106-1-8 106-2-1 106-2-1	Revoked Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended Amended Revoked Amended Revoked Amended Y 106: COMMIS S' STANDARD MERLY LAW EI RAINING COW Action Revoked (T) Revoked New (T) New	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 V. 31, p. 1428 SION ON PEACE S AND TRAINING NFORCEMENT IMISSION) Register V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1002 V. 31, p. 1221
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-1 through 105-7-6 105-7-8 105-11-1 AGENCC OFFICER (FOR) T Reg. No. 106-1-1 through 106-1-8 106-1-1 through 106-1-8 106-2-1	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended (T) Amended (T) Amended Amended Revoked Amended Revoked Amended Y 106: COMMIS S' STANDARD MERLY LAW EI RAINING COW Action Revoked (T) Revoked New (T) New New (T) New	V. 31, p. 114 V. 32, p. 916 OARD OF SE SERVICES Register V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1428 SSION ON PEACE S AND TRAINING NFORCEMENT IMISSION) Register V. 31, p. 1002 V. 31, p. 1002
102-6-4 102-6-5 102-6-9 102-6-9 102-6-9 102-6-10 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-6 105-7-8 105-7-6 105-7-8 105-7-1 through 105-7-6 105-7-8 105-11-1 AGENCC OFFICER (FOR) T Reg. No. 106-1-1 through 106-1-8 106-1-1 through 106-1-8 106-2-1 106-2-2 106-2-2a	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended (T) Amended Revoked Amended Revoked Amended Revoked Amended Revoked Amended Revoked Amended Revoked Amended Revoked (T) Revoked (T) Revoked New (T) New New (T) New New (T)	V. 31, p. 114 V. 32, p. 916 OARD OF SE SERVICES Register V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1002 V. 31, p. 1003 V. 31, p. 1003
102-6-4 102-6-5 102-6-9 102-6-9 102-6-10 102-6-10 102-6-11 102-6-12 102-7-3 INDI Reg. No. 105-3-2 105-3-2 105-7-1 through 105-7-8 105-7-8 105-7-8 105-7-8 105-7-8 105-7-8 105-7-8 105-7-7 INDI Reg. No. 106-1-1 through 106-1-8 106-1-1 through 106-1-8 106-2-1 106-2-2 106-2-2	Revoked Revoked Revoked Revoked Revoked Revoked Amended (T) AGENCY 105: B GENTS' DEFEN Action Amended (T) Amended (T) Amended (T) Amended Amended Revoked Amended Revoked Amended Y 106: COMMIS S' STANDARD MERLY LAW EI RAINING COW Action Revoked (T) Revoked New (T) New New (T) New	V. 31, p. 114 V. 32, p. 916 OARD OF ISE SERVICES Register V. 31, p. 1002 V. 31, p. 1427, 1428 V. 31, p. 1427, 1428 V. 31, p. 1002 V. 31, p. 1003 V. 31, p. 1221 V. 31, p. 1003 V. 31, p. 1221

Vol. 32, No. 35, August 29, 2013

Index to Regulations

—— Kansas Register ———

					e			
106-2-3	New	V. 31, p. 1223	111-2-283			111-5-127		
106-2-4	New (T)	V. 31, p. 1005	through			through		
106-2-4	New	V. 31, p. 1223	111-2-286	New	V. 31, p. 648	111-5-132	Amended	V. 32, p. 893-896
106-3-1		·····) p·· 1220	111-2-287	New	V. 31, p. 1428	111-5-194	Amended	V. 31, p. 359
through			111-2-288	New	V. 31, p. 1428	111-5-200	New	V. 31, p. 360
106-3-6	New (T)	V. 31, p. 1005, 1006	111-2-289			111-5-201		71
106-3-1	. /		through			through		
through			111-2-293	New	V. 32, p. 126-128	111-5-206	New	V. 31, p. 618, 619
106-3-6	New	V. 31, p. 1223, 1224	111-2-294	New	V. 32, p. 278	111-5-207		
106-4-1	New (T)	V. 31, р. 1006	111-2-295	New	V. 32, p. 278	through		
106-4-1	New	V. 31, p. 1224	111-2-296	New	V. 32, p. 297	111-5-212	New	V. 32, p. 819-821
AGEN	JCY 107. LAW H	ENFORCEMENT	111-2-297	New	V. 32, p. 297	111-7-187a	New	V. 32, p. 896
nour	TRAINING		111-2-298			111-7-188a	New	V. 32, p. 924
			through			111-7-249		
Reg. No.	Action	Register	111-2-305	New	V. 32, p. 321-324	through		
107-1-1			111-2-306	New	V. 32, p. 890	111-7-254	New	V. 32, p. 300-302
through			111-2-307	New	V. 32, p. 890	111-7-255		
107-1-5	Revoked (T)	V. 31, p. 1007	111-2-308	New	V. 32, p. 920	through		
107-1-1			111-2-309	New	V. 32, p. 920	111-7-260	New	V. 32, p. 353, 354
through			111-2-310	New	V. 32, p. 920	111-9-174	New	V. 31, p. 122
107-1-5	Revoked	V. 31, p. 1225	111-4-3135	New	V. 31, p. 116	111-9-175	New	V. 31, p. 123
107-2-1	Revoked (T)	V. 31, p. 1007	111-4-3136	New	V. 31, p. 121	111-9-176	New	V. 31, p. 124
107-2-1	Revoked	V. 31, p. 1225	111-4-3137			111-9-177	New	V. 31, p. 360
107-3-1	Revoked (T)	V. 31, p. 1007	through			111-9-178	New	V. 31, p. 1442
107-3-1	Revoked	V. 31, p. 1226	111-4-3142	New	V. 31, p. 274-278	111-9-179	New	V. 31, p. 1442
	AGENCY 109: E	SOARD OF	111-4-3144			111-9-180	New	V. 31, p. 1470
		CAL SERVICES	through			111-9-181	New	V. 31, p. 1471
			111-4-3158	New	V. 31, p. 345-354	111-9-182	New	V. 32, p. 132
Reg. No.	Action	Register	111-4-3159			111-9-183	New	V. 32, p. 133
109-1-1	Amended	V. 32, p. 226	through			111-9-184	New	V. 32, p. 354
109-1-1a	Revoked	V. 32, p. 229	111-4-3162	New	V. 31, p. 583-587	111-9-184a	New	V. 32, p. 967
109-2-5	Amended	V. 32, p. 612	111-4-3163			111-9-185	New	V. 32, p. 355
109-3-3	New	V. 31, p. 246	through	N T	M 01 (10 (17	111-9-185a	New	V. 32, p. 968
109-3-4	New	V. 31, p. 247	111-4-3171	New	V. 31, p. 613-617	111-9-186	New	V. 32, p. 594
109-3-5	Amended	V. 31, p. 1295	111-4-3172			111-9-186a	New	V. 32, p. 968
109-5-1c	New	V. 31, p. 247	through	N.T.		111-9-187	New	V. 32, p. 594
109-5-3	Amended	V. 32, p. 230	111-4-3181	New	V. 31, p. 649-656	111-15-1 111-15-2	Amended	V. 32, p. 280
109-5-5	Amended	V. 32, p. 231	111-4-3182			111-15-2	Amended Amended	V. 32, p. 280
109-5-7c	New (T)	V. 31, p. 245	through	NT	V 21 - 1400 1441	111-15-5	Amended	V. 32, p. 280
109-5-7c	New	V. 31, p. 497	111-4-3196	New	V. 31, p. 1429-1441	111-15-6	Amended	V. 32, p. 281
109-7-1	Amended	V. 31, p. 248	111-4-3197			111-15-12	Amenueu	V. 32, p. 281
109-8-2	New	V. 31, p. 225	through	Now	V 21 p 1468 1470	through		
109-10-1c	New	V. 31, p. 225	111-4-3203 111-4-3204	New	V. 31, p. 1468-1470	111-15-20	New	V. 32, p. 897, 898
109-11-1	Revoked	V. 32, p. 231				111-17-3	New	V. 31, p. 279
109-11-3	Revoked	V. 32, p. 231	through 111-4-3211	New	V. 31, p. 1541-1547	111-17-4	New	V. 31, p. 619
109-11-4	Revoked	V. 32, p. 231	111-4-3212	I VC W	v. 51, p. 1541 1547	111-17-5	New	V. 32, p. 159
109-11-4a	New	V. 31, p. 225	through			111-17-6	New	V. 32, p. 282
109-11-5	Revoked	V. 32, p. 231	111-4-3216	New	V. 32, p. 128-131	111-17-6a	New	V. 32, p. 328
109-11-6	Revoked	V. 32, p. 231	111-4-3217	ivew	1.02, p. 120 101	111-17-7	New	V. 32, p. 595
109-13-1	Amended	V. 31, p. 248	through			111-17-8	New	V. 32, p. 821
109-15-1	Amended	V. 32, p. 231	111-4-3223	New	V. 32, p. 153-159	111-201-14	Amended	V. 31, p, 361
AGENCY 1	10: DEPARTM	ENT OF COMMERCE	111-4-3224	New	V. 32, p. 278	111-301-6	Amended	V. 31, p. 658
Reg. No.	Action	Register	111-4-3225	New	V. 32, p. 298	111-301-32		1
	Action	Register	111-4-3226	New	V. 32, p. 299	through		
110-12-1			111-4-3227		1	111-301-44	New	V. 31, p. 1443-1446
through	D 1 1	N/ 22 054	through			111-401-1		
110-12-6	Revoked	V. 32, p. 854	111-4-3232	New	V. 32, p. 324-327	through		
AGE	ENCY 111: KAN	SAS LOTTERY	111-4-3233		*	111-401-50	New	V. 31, p. 389-407
A comple	ete index listing	all regulations filed by	through			111-401-30	Amended	V. 32, p. 969
		38 through 2000 can be	111-4-3236	New	V. 32, p. 350-352	111-401-51		
		52, December 28, 2000	111-4-3237			through		
		regulations filed from	through			111-401-118		V. 31, p. 427-449
	· · · ·	und in the Vol. 22, No.	111-4-3250	New	V. 32, p. 585-594	111-401-63	Amended	V. 32, p. 970
		isas Register. A list of	111-4-3251			111-401-95	Amended	V. 32, p. 972
		through 2005 can be	through			111-401-109	Amended	V. 32, p. 973
0		52, December 29, 2005	111-4-3263	New	V. 32, p. 811-819	111-401-119		
		regulations filed from	111-4-3264	New	V. 32, p. 890	through		
		und in the Vol. 26, No.	111-4-3265	New	V. 32, p. 891	111-401-166	New	V. 31, p. 528-552
		isas Register. A list of	111-4-3266	New	V. 32, p. 892	111-401-167		
		8 through November	111-4-3267			through	N.T.	V. 00 1/0 1/0
		1. 28, No. 53, December	through			111-401-171	New	V. 32, p. 160-162
		list of regulations filed	111-4-3271	New	V. 32, p. 921-923	111-401-172		
		hrough December 21,	111-4-3272			through	North	V 22 - 202 205
		l. 30, No. 52, December	through	Maria	V 22 - 0(1.0()	111-401-177		V. 32, p. 302-305
		e following regulations	111-4-3278	New	V. 32, p. 961-966	111-401-174	Amenuea	V. 32, p. 1009
	fter December 2		111-4-3279	New	V. 32, p. 1006	111-401-178 through		
Reg. No.	Action	Register	111-4-3280	New	V. 32, p. 1008	through 111-401-194	New	V 32 n 220-221
-			111-5-23			111-401-194 111-501-9	Amended	V. 32, p. 329-334 V 31 p 124
111-2-270			through 111-5-28	Amondod	V 31 p 255 259	111-501-9	Amended	V. 31, p. 124 V. 31, p. 659
through	Now	V 21 m 114 116	111-5-28 111-5-31	Amended Amended	V. 31, p. 355-358	111-501-12	2 mienueu	V. 31, p. 659
111-2-276 111-2-277	New	V. 31, p. 114-116	111-5-33	Amended	V. 31, p. 359 V. 31, p. 279	through		
111-2-277 through			111-5-82	Amended	V. 31, p. 279 V. 31, p. 657	111-501-26	New	V. 31, p. 124-129
111-2-282	New	V. 31, p. 582, 583	111-5-83	Amended	V. 31, p. 657	001 20		(continued)
		, <u>r</u> , coo			, r			(

Vol. 32, No. 35, August 29, 2013

_ Kansas Register ____

Index to Regulations

111-501-35			115-8-1	Amended	V. 32, p. 856	117-3-2	Amended	V. 31, p. 1067
through			115-8-2	Amended	V. 32, p. 856	117-3-2a	Amended	V. 31, p. 1068
111-501-81	New	V. 31, p. 129-146	115-8-19	Amended	V. 31, p. 1371	117-4-2	Amended	V. 31, p. 1069
111-501-44	Amended	V. 32, p. 974	115-8-23	Amended	V. 32, p. 857	117-4-2a	Amended	V. 31, p. 1070
111-501-45	Amended	V. 32, p. 976	115-8-24	New	V. 31, p. 954	117-5-2	Amended	V. 31, p. 1070
111-501-61	Amended	V. 31, p. 1549	115-9-8	Amended	V. 32, p. 89	117-5-2a	Amended	V. 31, p. 1071
111-501-82		, , , ,	115-14-1		·····, F····	117-7-1	Amended	V. 32, p. 226
through			through			117-8-1	Revoked	V. 31, p. 1071
111-501-102	2 New	V. 31, p. 620-628	115-14-6	Revoked	V. 31, p. 1142	117-20-1		
111-501-103	3	*	115-14-8	Revoked	V. 31, p. 1142	through	N.T. (777)	V. 01 005
through			115-14-9	Revoked	V. 31, p. 1142	117-20-7	New (T)	V. 31, p. 997
111-501-117	V New	V. 32, p. 162-167	115-14-10	Revoked	V. 31, p. 1142	117-20-1 117-20-2	New New	V. 31, p. 1248 V. 31, p. 1248
111-501-118	8 New	V. 32, p. 306	115-14-11			117-20-2	New	V. 31, p. 1248 V. 32, p. 89
111-501-119	New	V. 32, p. 167	through			117-20-3	Amended	V. 32, p. 1026
111-501-120) New	V. 32, p. 167	115-14-15	New	V. 31, p. 1142-1151	117-20-5	New	V. 31, p. 1248
111-501-121	New	V. 32, p. 167	115-14-14	Amended	V. 32, p. 90	117-20-6	New	V. 31, p. 1248
AG	FNCY 115. DFP	PARTMENT OF	115-16-5	Amended	V. 32, p. 857	117-20-7	New	V. 32, p. 89
WILDLIFE, PARKS, AND TOURISM		115-17-6 AGENCY 129: DEPARTMENT OF HEALTH				FNT OF HEALTH		
	, ,		through				ENVIRONMENT-	
Reg. No.	Action	Register	115-17-9	Amended	V. 31, p. 954, 955	HEALTH CARE FINANCE		
115-1-1	Amended	V. 31, p. 1365	115-18-1	Amended	V. 31, p. 1152		Action	Register
115-2-1	Amended	V. 32, p. 318	115-18-7	Amended	V. 32, p. 320	Reg. No.		0
115-2-2	Amended	V. 31, p. 1368	115-18-18	Amended	V. 31, p. 1371	129-5-1	Amended	V. 31, p. 1248
115-2-3	Amended	V. 32, p. 482	115-18-22	New	V. 31, p. 1371	AGENCY 130: HOME INSPECTORS		
115-4-2	Amended	V. 31, p. 425	115-20-7	Amended	V. 31, p. 956	REGISTRATION BOARD		
115-4-4	Amended	V. 32, p. 319	115-40-1			Reg. No.	Action	Register
115-4-4a	Amended	V. 32, p. 320	through		M 00 050 050	130-2-1	Amended	V. 31, p. 224
115-4-11	Amended	V. 32, p. 483	115-40-6	New	V. 32, p. 858, 859			· 1
115-4-15	New	V. 31, p. 1368	AGENCY 117: REAL ESTATE		AGENCY 132: KANSAS 911 COORDINATING COUNCIL			
115-5-1	Amended	V. 32, p. 854		APPRAISAL	BOARD			
115-5-2	Amended	V. 32, p. 855	Pag No	Action	Register	Reg. No.	Action	Register
115-6-1	Amended	V. 32, p. 855	Reg. No.		Ū	132-2-1	New	V. 31, p. 223
115-7-3	Amended	V. 31, p. 1370	117-2-2	Amended	V. 31, p. 1066	132-3-1	New	V. 31, p. 1540
115-7-10	Amended	V. 31, p. 1370	117-2-2a	Amended	V. 31, p. 1067	132-4-1	New	V. 31, p. 224

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594